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Question Number : 1 Question Id : 1908891192 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0.241 g of a substance occupies 2.3 cm’. The density of the substance keeping the significant

figures in view will be

7134

713
1
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1

| R ]
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Options:

1908894701. 1
1908894702. 2
1908894703. 3

1908894704. 4

Question Number : 1 Question Id : 1908891192 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908894701. 1
1908894702. 2
1908894703. 3

1908894704. 4

Question Number : 2 Question Id : 1908891193 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The dimensional formula for binding energy of a nucleus 1s

1, [MLETE‘]
2. [MLT
. [ML2TY
. [ML2TY

e L

Options :

1908894705. 1
1908894706. 2
1908894707.3
1908894708. 4

Question Number : 2 Question Id : 1908891193 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908894705. 1
1908894706. 2
1908894707. 3
1908894708. 4

Question Number : 3 Question Id : 1908891194 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The resistance R = V/I, where V=(200 = 10) Vand I = (10 + 1) A. The percentage error in R
will be

15%
11%
10%
0%

e Ll Bl

Options:

19088947009. 1
1908894710. 2
1908894711.3

1908894712. 4

Question Number : 3 Question Id : 1908891194 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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15%
11%
10%
9%

bt

o

Options:

19088947009. 1
1908894710. 2
1908894711.3
1908894712. 4

Question Number : 4 Question Id : 1908891195 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The position of an object moving along x-axis 1s given by x =a + bt” where a= 11 m,
2 . ;
b=23.5m/s" and t 1s 1n seconds. The average velocity betweent=3 sand t=15 s 1s

1. 28m/s
2. 4m/s
3. 21ms
4. Tms

Options:

1908894713. 1
1908894714. 2
1908894715. 3

1908894716. 4

Question Number : 4 Question Id : 1908891195 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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28 m's
14 m/s
21 m's
Tm's

e faa B =

Options:

1908894713. 1
1908894714. 2
1908894715. 3

1908894716. 4

Question Number : 5 Question Id : 1908891196 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A person 1s moving upward in a balloon with a constant velocity 20 m/s. When the balloon 1s at a
height of 25 m from the ground. the person drops a stone. The stone will hut the ground after a
tume

2s
Is
Ss

-

f5

e el B -

Options :

1908894717. 1
1908894718. 2
1908894719. 3

1908894720. 4

Question Number : 5 Question Id : 1908891196 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894717. 1
1908894718. 2
1908894719. 3

1908894720. 4

Question Number : 6 Question Id : 1908891197 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two vectors A and B are inclined such a way that the magnitude of their cross product 1s equal

to y3 times their dot product. The angle between them 1s

30°
45°
60°
Zero

Jee D bl

Options :

1908894721. 1
1908894722. 2
1908894723. 3
1908894724. 4

Question Number : 6 Question Id : 1908891197 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1. 30¢

2. 45°

3. 60°

4 T
Options:
1908894721. 1
1908894722. 2
1908894723. 3

1908894724. 4

Question Number : 7 Question Id : 1908891198 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A cricket ball of mass m 15 thrown at a certain speed u, in a direction 6 above the horizontal.

During the entire journey the force acting on the ball 1s

mg sinfl
mg cosd
mg
Zero

[ T

e

Options :

1908894725. 1
1908894726. 2
1908894727.3

1908894728. 4

Question Number : 7 Question Id : 1908891198 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908894725. 1
1908894726. 2
1908894727. 3

1908894728. 4

Question Number : 8 Question Id : 1908891199 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An msect trapped in a circular groove of radius 15 cm moves along the groove steadily and
completes 14 revolutions mn 100 s. The linear speed of the motion 1s. (take 7 = 22/7)

0.88 ems
1.32 cms
13.2 cv's
88 cm/s

o LAl e

Options:

1908894729. 1
1908894730. 2
1908894731. 3

1908894732. 4

Question Number : 8 Question Id : 1908891199 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(AT AT 2 = 22 17)

0.88 cm/s
1.32 cm/s
13.2 eco's
88 cmy's

=1

il L

Options:

1908894729. 1
1908894730. 2
1908894731.3

1908894732. 4

Question Number : 9 Question Id : 1908891200 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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As shown in the figure, a mass of 8 kg 1s suspended by a light string of length 2 m from the

ceiling, A force of 80 N 1n the horizontal direction 1s applied at P as shown n the figure. The
. . . P . e

angle 6 the string makes with the vertical at equilibrium 15, (g =10 m/s")

L LSS LS

E |

” |
"
P: » 80N
im

ks

60°
45°
30°
15°

| S

o

Options :

1908894733. 1
1908894734. 2
1908894735. 3

1908894736. 4

Question Number : 9 Question Id : 1908891200 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1. 60°
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3. 3¢
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Options:

1908894733. 1
1908894734. 2
1908894735. 3

1908894736. 4

Question Number : 10 Question Id : 1908891201 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A box of mass m 1s lymng on the floor of a train moving with a veloeity v. The coefficient of
static friction between the box and the floor of the train 15 p;. The maximum acceleration of the
train in which the box will remain stationary depends on

Mass of the box m

Velocity of the train v
Coefficient of static friction s
Surface area of the box

b

e Tl

Options:

1908894737. 1
1908894738. 2
1908894739. 3

1908894740. 4

Question Number : 10 Question Id : 1908891201 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m EETATT FT Qb 9197 v 39 ¥ AGAA Uh FRMET & Jof 0 TUF &1 9197 Fa
W ¥ 79 F &7 wifeF o 7 i ) e 7 afeas o
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. 3FF ¥ TdE ETFA W

. L] [ ] —t

Options :

1908894737. 1
1908894738. 2
1908894739. 3

1908894740. 4

Question Number : 11 Question Id : 1908891202 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

A bullet of mass m is fired with speed v on soft plywood of thickness t. The bullet emerges with
only half of the mnitial kinetic energy. What 1s the emergent speed of the bullet?

[

L)
S & xS S
2 () \.J:-\\;-:\\
3]

Options:

1908894741.1
1908894742. 2
1908894743. 3

1908894744. 4

Question Number : 11 Question Id : 1908891202 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m FCTA HT AN FT ¢ ATS F AR A% 9T v I F T IET AAT F| AR
FOeAT 3melt IR Afae F1 F @Y T £ e fr Fm am Fw g o

[ -
]

(=]
b\

Options:

1908894741.1
1908894742. 2
1908894743. 3

1908894744. 4
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Question Number : 12 Question Id : 1908891203 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An elevator can carry a maximum load 2000 kg (Elevator+passengers) 1s moving up with a

constant speed of 2 m/s. The frictional force opposing the motion 1s 2000 N. The maximum
[ L F 1'\.

power delivered by the motor to the elevator 1s. (g =10 m's")

44x10'W
44x10°W
22x 10'W
22x10°W

3 bt

P Lo

Options:

1908894745. 1
1908894746. 2
1908894747.3

1908894748. 4

Question Number : 12 Question Id : 1908891203 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T fire Jr #fiwad 2000 ke T57 (AP + 6N o I TFAT 2 s B BT AW
¥ W H T A £ A F 355 F 90 99 2000 N F| wE F A
IR & T HHAH U £ (2=10ms)

1. 44x10'W
2. 44x10°W
C22x10'w
4 22x10W

)

Options:

1908894745. 1
1908894746. 2
1908894747.3
1908894748. 4
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Question Number : 13 Question Id : 1908891204 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A bullet of mass 50 g 1s fired from below 1nto a bob of mass 450 g of a simple pendulum as
shown in figure. The bullet remains nside the bob and the bob rises through a height of 1.8 m.
The speed of the bullet is. (g =10 m/s")

LLET

1450 ¢

6 m/'s

60 m/s
54 m/s
54m/s

e —

fu L2

Options:

1908894749. 1
1908894750. 2
1908894751. 3
1908894752. 4

Question Number : 13 Question Id : 1908891204 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 16


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

T # gofY 3 AR, 50 ¢ FeHA H TF el T FUR0T Aol & 450 ¢ F
Mo & A @ grfr wft §) e e ¥ et ¢ AR Mo 18 m F T ¥ FW
$r 3T Foar gl ?ﬁ?ﬁﬁﬂm? (g=10111.-"32)

(LSS

150 ¢

L
L]
i [=}

6 m's

60 m/s
54m/s
54m/s

T s R

Options:

1908894749. 1
1908894750. 2
1908894751. 3

1908894752. 4

Question Number : 14 Question Id : 1908891205 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Moment of inertia of a disc about one of its diameter is (M =mass and R= radius of the disc)

1. MR?
2. MR}2
3. MRY4
4. MRYS
Options:
1908894753, 1
1908894754, 2
1908894755, 3

1908894756. 4

Question Number : 14 Question Id : 1908891205 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T 1 F57 HY 9 T W F IR AN (M = A, R = B i )

MR’

MR?2
MR*/4
MR8

i o

Options:

1908894753. 1
1908894754. 2
1908894755. 3

1908894756. 4

Question Number : 15 Question Id : 1908891206 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Aforce F = 7j+ 3j - 5k acts on a particle with position vector 7 = i - ;. The torque acting on
the particle 1s

5+ 5] + 10k
5i — 5j + 10k
5 - 5] — 10k
5 + 5] — 10k

e B

Options :

1908894757. 1
1908894758. 2
1908894759. 3

1908894760. 4

Question Number : 15 Question Id : 1908891206 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

U 0 F=-7;+3;-5: Th e Ragafer -i-; 5 oo 5o st 21
FUT W R FIF T T A E -

L. 5{+5j+ 10k
2. 5i—5j+10k
3. 50— 5j— 10k
4. 5i+5j— 10k
Options:
1908894757. 1
1908894758. 2
1908894759. 3

1908894760. 4

Question Number : 16 Question Id : 1908891207 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Four 1dentical masses m are placed at the vertices of a square of side [. Potential at the centre of
the square 15

426m)/l
~4\26m/1
46m/\21
—46m /2l

N e

Options:

1908894761. 1
1908894762. 2
1908894763. 3

1908894764. 4

Question Number : 16 Question Id : 1908891207 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TN TF TAE Fe0AE m, /3o & 3 F ¥ W@ 7 §| 997 § g W oE
F

426m/l
—4\26m/I
4Gm/\2l
—4Gm/\2l

A e

Options:

1908894761. 1
1908894762. 2
1908894763. 3

1908894764. 4

Question Number : 17 Question Id : 1908891208 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A satellite of mass m 15 1n a circular orbit of radius 2 R about the earth. The energy required to
transfer 1t in a circular orbit of radius 4 R 1s, (M = mass of the earth, R = radius of the earth)

— GMm/4R
GMm/4R
- GMm/SR
GMm/8R

o =

Options :

1908894765. 1
1908894766. 2
1908894767.3

1908894768. 4

Question Number : 17 Question Id : 1908891208 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m FEIA F UF ITIE G241 & IR0 32 R Feam & ey e & €1 4rBew A
JedT FET F TIAANG S & [T HT9TF 51 ¢,

(M =92 7 Fe¥AM. R = g2 1 =)

- GMm/4R
GMm/4R
- GMmv/SR
GMm/SR

B o

Options:

1908894765. 1
1908894766. 2
1908894767. 3

1908894768. 4

Question Number : 18 Question Id : 1908891209 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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When a wire 1s under a stress, the amount of elastic potential energy stored in the wire 1s

1 :
1, 5 stress * strain
1 . .
2. o stress strain % volume of the wire
1 T
3. 5 stress X Young's modulus
B oy om0
4. < Strain x Young's modulus
Options:

1908894769. 1
1908894770. 2
1908894771. 3

1908894772. 4

Question Number : 18 Question Id : 1908891209 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

F9 TF aX Yadd & 3fiq £ a0 F 577 ey T s Hr A & -

| L e« Ry
2 %sr%aﬂ«ﬁﬁﬁrxma:rm
1 : :
3. < Sfeaet « 3 F oTF
1 . .
4. gﬁﬁammw
Options:

1908894769. 1
1908894770. 2
1908894771. 3

1908894772. 4

Question Number : 19 Question Id : 1908891210 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The density of air at sea level is 1.0 kg/m’ and assume that it does NOT change with altitude.
Then how high would the atmosphere extend? (z= 10 m/s", Py, = 1.0 x 10° Pa)

s 103111
2. 10°'m
3. 10?111
4. 10°m
Options :
1908894773. 1
1908894774. 2
1908894775. 3

1908894776. 4

Question Number : 19 Question Id : 1908891210 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WE 79 T &4 F Ueq 1L.0kg/w' € FUT A 5 Ig 3918 F WY 7 Tgo £
T FIgEsd F fRaer 1 R & T € 2 (2= 10m’s”, Pay=10x 10°Pa)

10°'m
10°m
10?111
10°m

[ S

Options:

1908894773. 1
1908894774. 2
1908894775. 3

1908894776. 4

Question Number : 20 Question Id : 1908891211 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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If a diatomic molecule 15 not a rigid rotator, then the value of molar specific heat at constant

volume Cy 1s, (R=universal gas constant)

TR/2
OR/2
5R2
9R/T

2 =

T o

Options:
1908894777. 1
1908894778.

1908894779.

A WN

1908894780.

Question Number : 20 Question Id : 1908891211 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e o fGTOF 2] TE qUIF AR 8. A9 fO aed W A faew amw cy H
A4 .

(R=FET f7 i)

TR/2
9R/2
5R/2
9R/T

b =

S )

Options :

1908894777. 1
1908894778. 2
1908894779. 3

1908894780. 4

Question Number : 21 Question Id : 1908891212 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A body oscillates with SHM given by the equation. x = 3 cos (27t + 7 : [

Att=15s, isplac 1 L]
At t=1.5 s. the displacement will be AI.; 0 r’!

3m
-3 m
21m
-2.1m

b =

e, 2

Options:

1908894781. 1
1908894782. 2
1908894783. 3

1908894784. 4

Question Number : 21 Question Id : 1908891212 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

% U2 SHM & T1Y gl 3T & 3 T « - aco;|;9,n-+%}m g fea gl
t=1.5 < 0. Fweer g, | y_ D.?i‘

3m
-3Jm
21lm
-2.1m

e L s =

Options:

1908894781. 1
1908894782. 2
1908894783. 3

1908894784. 4

Question Number : 22 Question Id : 1908891213 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The constant y for oxygen as well as hydrogen is 1.4. If the speed of sound in oxygen 1s v, what
will be speed of sound 1n hydrogen at the same temperature and pressure?

16v
g
Ay

y

[ e

e

Options:

1908894785. 1
1908894786. 2
1908894787.3

1908894788. 4

Question Number : 22 Question Id : 1908891213 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

HFEST F 1T Y FESE F B 1. 14 8| I AT § aSH Ay
£ TAW a9 307 3@ W FEsie & eI 1 A 4 gt o

16v
Sv
dv

y

bt —

Options:

1908894785. 1
1908894786. 2
1908894787.3
1908894788. 4

Question Number : 23 Question Id : 1908891214 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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An mstrument called the sphygmomanometer 1s used for measurement of

1. Flow speed of fluid

2. Atmospheric pressure
Pressure difference

Blood pressure of humans

o

Options:

1908894789. 1
1908894790. 2
1908894791. 3

1908894792. 4

Question Number : 23 Question Id : 1908891214 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T T=7 =0 TreAdaHe Fa ¢, ANA & &7 AT ¢ -

. &9 F 98 FT T
. AAZAT g
graaY

[a—

[ ]

4. Hel> shl I cld

Options :

19088947809. 1
1908894790. 2
1908894791. 3
1908894792. 4

Question Number : 24 Question Id : 1908891215 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A cylindrical vessel contaming a liquid is closed by a smooth piston of mass m as shown in the
figure. The area of cross-section of the piston 1s A. If the atmospheric pressure is Py. the pressure
of the liquid just below the piston 13

. Pytmg
Potmg/A
mg/A

o 7

Options:

1908894793. 1
1908894794. 2
1908894795. 3

1908894796. 4

Question Number : 24 Question Id : 1908891215 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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R & 2T AT FAOR. 0F SR o4 § 39 W § I mFeIAT F oo

fres et a2 §1 Frred & seuey F1T 7 476 A gl I TYESAT TF P £,
e sdesdusmaaat.

Py
Pytmg
Potmg/A
mg/A

|

o B

Options:

1908894793. 1
1908894794. 2
1908894795. 3
1908894796. 4

Question Number : 25 Question Id : 1908891216 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two charges +10 uC and +20 uC are placed at a disance of 2 em. The electric potential due to
the charges at the mid point of the line joining the two charges will be.

(Y, mep = 9x10°N 107/ )

Zero
oMV
1§ MV
2TMV

[

P

Options :

1908894797. 1
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1908894798. 2
1908894799. 3
1908894800. 4

Question Number : 25 Question Id : 1908891216 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ar Hlﬂ'i’l'ﬂ{}p{‘ﬁm*'l@ Iuc.lcmEﬁ'EQQFW ™ ?;L ?ﬂ?ﬁ H F snﬁaﬁri‘m =
Ay fdg T e & FR0T d9g e g -

(1/ e, = 9x10°N 10/ )

et

9 MV
18 MV
27 MV

[ [a—

Options:

1908894797. 1
1908894798. 2
1908894799. 3
1908894800. 4

Question Number : 26 Question Id : 1908891217 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Four particles each having a charge q are placed on the four vertices of a regular pentagon as
shown 1n figure. The distance of each corner from the centre O 1s a. The electric ficld at the
centre of the pentagon s

A B
d .
E 0 C
D
1. Zero
2. 4y  along OF
ir g a”

3% y , along OE
i €, a”

4. y , along EO
dr g a

Options:

1908894801. 1
1908894802. 2
1908894803. 3

1908894804. 4

Question Number : 26 Question Id : 1908891217 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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fa # garfe s FER. TR F07 ol 7% #1369 o TS 9N Y W
W I g1 93F #1988 0Fr gl 2§ WA F Fg W Rgga a9 ¢ -

A B

Options:

1908894801. 1
1908894802. 2
1908894803. 3
1908894804. 4

Question Number : 27 Question Id : 1908891218 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 32


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

A charge q 15 placed at the centre of the open end of a cylindrical vessel as shown 1n the figure.
The flux of the electric field through the surface of the vessel is

<>

"'"--..._________,..-"'"

=
. /2 €
2q/€,

. Zero

N s

Options:

1908894805. 1
1908894806. 2
1908894807. 3
1908894808. 4

Question Number : 27 Question Id : 1908891218 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R # 2T 70 3R, 0F 39 30N 307 5 G @Y F Fg T @1 W g
a9 $ Tag ¥ e a0 Regd 87 71 W ¢ -

-

1. g/,
2. q/2¢
3. 2q/g,

4
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Options :

1908894805. 1
1908894806. 2
1908894807. 3
1908894808. 4

Question Number : 28 Question Id : 1908891219 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Van de Graaf accelerator can NOT be used for accelerating

Electron
Proton
a-particle
Neutron

b

Fu L

Options :

1908894809. 1
1908894810. 2
1908894811. 3

1908894812. 4

Question Number : 28 Question Id : 1908891219 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a3 I caRoT fReeT caRd &el & T 92er 78T &1 §ehal -

1. ol
grete
o - ShOT

b

rf\l; !

E=S Lad | ]

Options:
1908894809. 1
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1908894810. 2

1908894811. 3
1908894812. 4

Question Number : 29 Question Id : 1908891220 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 10 pF capacitor is connected to a battery of 10 V through a 100 Q resistor as shown m the
figure. The charge accumulated in the capacitor will be

10pF

||
| |

L'—/\/\/\M

100Q) 10V

100 pC
50 nC
25 pC

Zero

[ N T R

Options:

1908894813. 1
1908894814. 2
1908894815. 3
1908894816. 4

Question Number : 29 Question Id : 1908891220 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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For # qaifv 210 38R T 10 uF FfYE. 100 Q Sfawres Far 10 VT agf & r €
JuIRT & FA 3w 1 A gef -

__% \|

10uF

MW,

100Q 10V

100 uC
50 nC
25 uC
T=T

™

. LIPS T -

Options:

1908894813. 1
1908894814. 2
1908894815. 3

1908894816. 4

Question Number : 30 Question Id : 1908891221 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An 1solated sphere has capacitance of 50 pF. The radius of the sphere 1s.

(Y ame, = 910N/ )

1. 45x10°m
2. 45x10%m
45x10°m
45x10°%m

o

Options :
1908894817. 1
1908894818. 2

Page - 36


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

1908894819. 3

1908894820. 4

Question Number : 30 Question Id : 1908891221 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U faafara aer 50 pF &7 enfar T@ar §1 e $r B £ -
(Yane, = IK1°N™/0)

45x10°m
45x10%m
45x10°m
45x10°%m

| ]

B

Options:

1908894817. 1
1908894818. 2
1908894819. 3

1908894820. 4

Question Number : 31 Question Id : 1908891222 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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WValue of the resistor shown below is.

b |
——
Grey je—
Silver |n——

o
R
L) (a8
1. 52x10°Q<10%
2. 52x10" Q5%
3. 52x10°0=10%
4. 52x10'Q=5%
Options:

1908894821. 1
1908894822. 2
1908894823. 3
1908894824. 4

Question Number : 31 Question Id : 1908891222 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A gorfe oo &, 9faes F1 71 ¢

Green j——
Red |ees—m|
Grey |jss—
Silver |——

1. 52x10°Q+10%
2. 52x10°Q+5%
3. 52x10°Q=10%
4. 52x10'Q+5%
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Options :

1908894821. 1
1908894822. 2
1908894823. 3

1908894824. 4

Question Number : 32 Question Id : 1908891223 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The resistance of the platinum wire of a platinum resistance thermometer at ice point 1s 5 Q and
at steam point 15 5.25 Q. When thermometer is placed in a hot bath, the resistance 15 5.8 Q. The
temperature of the hot bath 1s

320K
320°C
220K
220° C

e el e

Options:

1908894825. 1
1908894826. 2
1908894827. 3
1908894828. 4

Question Number : 32 Question Id : 1908891223 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wfead gfaty aard F wfeaw ar F gfaty &1 A 5 o gar amuE 525 Q B
9 d9ATH UF atd 1Y F WA § a9 YT 58 QF| i 1Y F A9A §

320K
320°C
20K
220°C

(S

e

Options:

Page - 39


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

1908894825. 1
1908894826. 2
1908894827. 3

1908894828. 4

Question Number : 33 Question Id : 1908891224 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In the circuit shown below, the value of the current 1 will be,

100 200
—AW——\Wh—
300)
A Wy
!

4y

—

A

b —
| R e

A
0.075 A
0.75A

L it

Options:

1908894829. 1
1908894830. 2
1908894831. 3

1908894832. 4
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Question Number : 33 Question Id : 1908891224 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 2o a0 oftey & owT i AW g
300
A AW MWAV—
/N 200 400 ;
B
| i
4V
1. 02A
2. 2A
3. 0075A
4, 075A
Options:

1908894829. 1
1908894830. 2
1908894831. 3
1908894832. 4

Question Number : 34 Question Id : 1908891225 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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We have a hollow cylindrical conductor of length 3.0 m and inmer and outer radii 1.0 em and
2.0 cm respectively. Its resistance 1s. (resistivity of the material 1s 7 x 107 Qm)

107 Q
10°Q
10'a
10°9Q

Bod b

e

Options:

1908894833. 1
1908894834. 2
1908894835. 3

1908894836. 4

Question Number : 34 Question Id : 1908891225 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

EAR UM 3.0 m oFaTE T WA Jo0dFR 1005 § T4 IFH HaF Jar T
Bar FA: 1.0 cm 3T 2.0 em §1 FTF 90T & (TS T wieRmar nx 107 Qm)

d
(]

1. 10°Q
2. 10%q
3. 1079
4 10°Q
Options:

1908894833. 1
1908894834. 2
1908894835. 3
1908894836. 4

Question Number : 35 Question Id : 1908891226 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A straight wire of mass 100 g and length 2.0 m carries a current of 2 A. It 1s suspended in mid-air

by a uniform horizontal magnetic ficld B as shown in the figure. The magnetitude of the
: i )
magnetic field 15, (g =10 m's")

2A

/ ®E

—m

250T
25T
23T
025T

[ R =

Lo

Options :

1908894837. 1
1908894838. 2
1908894839. 3

1908894840. 4

Question Number : 35 Question Id : 1908891226 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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100 g GETAT TAT 2.0 m FETS &7 U AT AR 2 A YR qIfgad e €1 T@
TFEAT AT TR & B GEN g & drg  foeifed ot B R A fmm
T §| TrIT & FT ARA £,

(2=10m 32}

2A
N
e @‘é‘

2m >

250°T
25T
25T
0.25T

P s b

Options :

1908894837. 1
1908894838. 2
1908894839. 3

1908894840. 4

Question Number : 36 Question Id : 1908891227 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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An clement of length Ax =1 cm 15 placed at the origin and carrier current [ =4 A as shown 1n the
fiure. The magnitude of the magnetic field on the y-axis at a distance of 0.5 m 1s,

(/4 7=10"T m/A)

4y

A [ ]

0.5m

— X

1.6x107T
16x10°T
16x10°T
Zero

2 =

Options:

1908894841. 1
1908894842. 2
1908894843. 3

1908894844. 4

Question Number : 36 Question Id : 1908891227 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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R # gafv o 3@, Ax=lem TFT% FT 06 9 HAag W TGN § d97 38 =44
R Afed 81 y- H&T W 0.5 m T G T Ty &7 F IRAT ¢,

(1o/4 =107 T m/A)
AY
A [ ]
1
®)

— AX ——

1.6x107T
16x10°T
1.6x10°T

1T
L

b =

o, b

Options:

1908894841. 1
1908894842. 2
1908894843. 3

1908894844. 4

Question Number : 37 Question Id : 1908891228 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In a moving coil galvanometer, if we double the number of turns in the coil, the current
sensitivity doubles, The voltage sensitrvity will

1. remain unchanged

-

become 1 1

. become }é

4. become double

L]

Options:

1908894845. 1
1908894846. 2
1908894847. 3

1908894848. 4

Question Number : 37 Question Id : 1908891228 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT el AeadAlel #. Af¢ F7 F3a0 # GAT 1 TEAT el L g at R
GATETAT It &1 AT &1 @ doear GAETAT g

. yuREfda wEl
AL
3/ @

. T g

Options:

=, L] [ -] —

1908894845. 1
1908894846. 2
1908894847. 3

1908894848. 4

Question Number : 38 Question Id : 1908891229 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

At a certain place on the earth surface the horizontal component of earth's magnetic field 1s
0.29G and the dip angle is 60°. What 1s the magnetic field of the earth at this place?

1. 0.58G
2. 058/V36G

0.29/V3 G
0.29G

[ SN ]

Options:

1908894849. 1
1908894850. 2
1908894851. 3

1908894852. 4

Question Number : 38 Question Id : 1908891229 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g f Hg W 0 AT T WG F Jrahig &9 F7 8fds 965 0.29G ¢
T Al F0760° §1 3H TAW W G F I & FAE -

1. 0.586G
2. 0.58/Y36G
0.29/V3G
0.29 G

e Taa

Options:

1908894849. 1
1908894850. 2
1908894851. 3
1908894852. 4

Question Number : 39 Question Id : 1908891230 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The expression for the magnetic energy stored in a solenoid in terms of magnetic field B. area A
and length [ of solenoid.

1. BAL/2u"
2. B2Alj2y,
3. BAl/u,’

4. BAl/po

Options:

1908894853. 1
1908894854, 2
1908894855. 3

1908894856. 4

Question Number : 39 Question Id : 1908891230 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS Fof IRATOH § TFahig &7 B, 8T A T 7S | F FeeH H
IRt & ¥ 8. % foT s ¢ -

1. BAL/2u,"
2. B2Al/2u,
3. BAl/u,’

4. BAl/uq

Options:

1908894853. 1
1908894854. 2
1908894855. 3

1908894856. 4

Question Number : 40 Question Id : 1908891231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

An inductor joined to 6 V battery draws 12 A current. The mductor and a capacitor 1s connected
to ac source of rms voltage 6 V in series. If the current in the circuit is in phase with the emf, the
1ms current is

1. 6A

2. 12/y24
3. 12A

4. 12\24

Options:

1908894857. 1
1908894858. 2
1908894859. 3

1908894860. 4

Question Number : 40 Question Id : 1908891231 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
T Y& 12 A ONT feTe @l 6Vl agi & 87 §| WS HR v W6 vaar

AT 7 Aeedl F IAEd 4R TG F 4@ F 30 71 I TS F GRT eonf
IR % H . 39 AT A O 8 -

1. 6A

2. 1224

3. 12A

4. 12424
Options:
1908894857. 1
1908894858. 2
1908894859. 3

1908894860. 4

Question Number : 41 Question Id : 1908891232 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An alternating current having peak value of 14 A used to heat a metal wire. To produce heating
effect, a constant current 1 can be used where 115

14A
About 20 A
TA

About 10 A

[ T =

- Lo

Options:

1908894861. 1
1908894862. 2
1908894863. 3

1908894864. 4

Question Number : 41 Question Id : 1908891232 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TR O 14 AH HUFAA 79 WA § i & O a% # T F & o0
YA 2T §| WA FAIT IHTE F 39 R F o0 TF (BT 9 i3 =

SEDRSACHETE

1. 14A

2. ORTAT 20 A
3 TA

4, ORTAT 10A
Options:
1908894861. 1
1908894862. 2
1908894863. 3

1908894864. 4

Question Number : 42 Question Id : 1908891233 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Rainbow occurs due to the fact that when sunlight passes through the water drops 1 the
atmosphere. it undergo

1. Dispersion
2. Scaltering
Polarization
Diffraction

i

Options:

1908894865. 1
1908894866. 2
1908894867. 3

1908894868. 4

Question Number : 42 Question Id : 1908891233 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g ASd A [ TERT & T H gal F g JoRe & FROT SEUY A IREC
ufee el &1 $HH FROT ¢ -

11

Options:

1908894865. 1
1908894866. 2
1908894867. 3
1908894868. 4

Question Number : 43 Question Id : 1908891234 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

The image formed by convex lens 1s real and magnified. Now if we cover a half of the lens by
black paint as shown in the figure, then

1. Size of the image will diminish
2. Full image will not be formed
3. Position of image will change
4. Brightness of the image will diminish
Options :
1908894869. 1
1908894870. 2
1908894871. 3

1908894872. 4

Question Number : 43 Question Id : 1908891234 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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3cde o AN & Siafard aEde® 9o ¥EfUa g1 BT & qarfo sw e, 3
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. gfafess F1 3R gam
. o wfafars & a=em

. gfafer $ feufy agoef
4. gfafer F T7s el

e

| )

L8]

Options:

1908894869. 1
1908894870. 2
1908894871. 3

1908894872. 4

Question Number : 44 Question Id : 1908891235 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Unpolarised light 1s mecident on a plane glass surface with refractive index p. What should be the
angle of meidence so that the reflected and refracted rays are perpendicular to each other?

1 rmrl(l/]“)
2. tan~'pu

3. Sin-l(l/ﬂ}
4, cos“(l/ﬂ)

Options :
1908894873. 1

Page - 54


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

1908894874. 2
1908894875. 3
1908894876. 4

Question Number : 44 Question Id : 1908891235 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

YT THT HGAAF 1 F T S % TATA Tdg W A §| Wafed a1
yyafda FUT T gEY & eaad @ at JT9ad HIOT F1 g AT 2

1. tmz‘l[il/!u)

2. tan™y

i A Sin_l(l‘/’l_;)
4, cos‘lLl/ﬂ)

Options:

1908894873. 1
1908894874. 2
1908894875. 3
1908894876. 4

Question Number : 45 Question Id : 1908891236 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For what distance 1s ray optics a good approximation when the aperture is 2 mm wide and
wavelength 15 500 mm?

80 m
8 m
40m
4m

o

I s

Options :

1908894877. 1
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1908894878. 2
1908894879. 3

1908894880. 4

Question Number : 45 Question Id : 1908891236 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frae g % forw seer i Bvor oF 30T FEe & 99 R 2w der €
Wﬁﬂﬁxlm??

80 m
gm
40 m
4m

e e D

Options:

1908894877. 1
1908894878. 2
1908894879. 3

1908894880. 4

Question Number : 46 Question Id : 1908891237 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For a hydrogen like atom, the kinetic energy of the electron in a certain orbit 1s 9.4 ¢V, The total
energy and potential energy respectively in this case will be

18.8eV, 9.4V
04eV,.94¢eV

3. -9.4eV,-188¢eV
4. 94eV.-188eV

b —

Options :
1908894881. 1
1908894882. 2

1908894883. 3
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1908894884. 4

Question Number : 46 Question Id : 1908891237 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e Ty WA & fov, el Afeg a7 & gomeia &7 Afae Fa104cVEl A
0 20 & Faf Far 3 foorg F FA g -

18.8eV.9.4eV
04eV.94eV
94V, -188 eV
04eV,-188¢eV

o —

o

Options :

1908894881. 1
1908894882. 2
1908894883. 3

1908894884. 4

Question Number : 47 Question Id : 1908891238 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The de Broglie wavelength associated with an electron accelerated through a potential difference
of 64 volts

0.153 om
1.53 nm

15.3 nm
153 am

[

e

Options:

1908894885. 1
1908894886. 2
1908894887. 3

1908894888. 4
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Question Number : 47 Question Id : 1908891238 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6435CT & I & FR0 1T A F Y TEAied R amer qwr deg f

0.153 nm
1.53om

15.30m
153 nm

e e a2 —

Options:

1908894885. 1
1908894886. 2
1908894887. 3

1908894888. 4

Question Number : 48 Question Id : 1908891239 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
As compared to 1>C atom *C atom has

1. Two extra protons and two extra electrons
2. Two extra protons and no extra electrons

L]

Two extra neutrons and no extra electrons
4. Two extra neutrons and two extra electrons
Options:

1908894889. 1
1908894890. 2
1908894891. 3

1908894892. 4

Question Number : 48 Question Id : 1908891239 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P quH] T JoieT H C Ay A eamase § -

(==

. & faRad Wiels a1 & JaRad Seiacie
. a1 AfAREFT Hieie U F1g FAARTFd gelTea e
. gy faRera =ygla aur #18 sfaRad sewgia a7el
. &1 fafeEa wggia aur ar sfafea seia

=Y L] [ ]

Options:

1908894889. 1
1908894890. 2
1908894891. 3

1908894892. 4

Question Number : 49 Question Id : 1908891240 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Figure given below shows A and B input waveforms and Y, the output waveform for a logic
gate. The gate 15

. AND gate
OR gate

. NOT gate
. NOR gate

[ S R

Options:

1908894893. 1
1908894894. 2
1908894895. 3

1908894896. 4

Question Number : 49 Question Id : 1908891240 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A 230 T 7. 1% Ao AT & [T A T B HTH ateT TORT JuT Y @ avr
W ¢ AT §

1. ANDC
ORI

. NOT e
4. NORJE

| ]

LS

Options :

1908894893. 1
1908894894. 2
1908894895. 3

1908894896. 4

Question Number : 50 Question Id : 1908891241 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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When a transistor is used as amplifier. the circuit is designed in such a way that the transistor
operates in

cut off and saturation region
cut-off and active region
saturation and active region
active region only

R R

Options:

1908894897. 1
1908894898. 2
1908894899. 3
1908894900. 4

Question Number : 50 Question Id : 1908891241 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9 99T F #HFT 57 A AN T FE & F afewer #oyaw @ A 3w
T ¥ AT FF 9eo & gaIfod 2§

[E—

. WAT AT W 60 A
). B 3R feamfe weor #
. Wged 7 fmiter ggu 7
. %39 fraefe e &

-

= taa

Options:

1908894897. 1
1908894898. 2
1908894899. 3

1908894900. 4

Part B Chemistry
SectionId : 19088937
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Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 19088963
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 1908891242 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The figure given below represents:

1. Network polymer

2. Linear polymer

3. Branched chain polymer

4. High density polythene
Options:

1908894901. 1
1908894902. 2
1908894903. 3

1908894904. 4

Question Number : 51 Question Id : 1908891242 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

= T arar Ry vt s

I.EHWEE?-FF

. @ Jgah
M @ TgAF

3
4. 3= UdF Uleiradia

[ ]

Options:

1908894901. 1
1908894902. 2
1908894903. 3
1908894904. 4

Question Number : 52 Question Id : 1908891243 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Saponification reaction is an example of:

Ester hydrolysis reaction
Trans-esterification reaction
Fischer-Esterification reaction
Addition reaction

b =

N S

Options :

1908894905. 1
1908894906. 2
1908894907. 3

1908894908. 4

Question Number : 52 Question Id : 1908891243 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
IR0 HIATRIT T 30T §

1. TE S AU AT
I=H - TEEdRoT ATATRa
frer - Trelietor AfAfwaT
Heholdd TATHAT

[ ]

"l

Options :

1908894905. 1
1908894906. 2
1908894907. 3
1908894908. 4

Question Number : 53 Question Id : 1908891244 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A symmetrical alkene ‘A’ undergoes ozonolysis to yield 2 moles of a ketone with molecular
mass of 38u. ‘A’ 1s:

2.3-Dimethyl but-2-ene

[y —Y

But-2-ene
But-1-ene
3.4-Diethyl-hex-3-ene

sB=ke

Options:

19088949009. 1
1908894910. 2
1908894911. 3

1908894912. 4

Question Number : 53 Question Id : 1908891244 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

U% FHAG Uledhd 'A' MSAT@T & & A el 2ar & T H0faF 71 58
gl AT

L 233EAR Sg-2- 5

2 L - 2.5
714

S ]

3. 4-SEofYe - 899 - 3 - g1

Options:

19088949009. 1
1908894910. 2
1908894911. 3

1908894912. 4

Question Number : 54 Question Id : 1908891245 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Formalin is particularly used to preserve biological specimens in laboratory. It 1s a:

50% aqueous solution of formaldehyde
50% ethanolic solution of formaldehyde
60% aqueous solution of acetaldehyde

b =

il

40% aqueous solution of methanal

Options:

1908894913. 1
1908894914. 2
1908894915. 3

1908894916. 4

Question Number : 54 Question Id : 1908891245 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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HATeRT F1 3990 5@ §9 ¥ AfeF gl & afweor & frar Far g1 3
& £l
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). WTHTCEEES FT 50 % TAaToF o
. UEfesEEE # 60% T faerae

. BT FT 40% Fog o

S ]

Options :

1908894913. 1
1908894914. 2
1908894915. 3

1908894916. 4

Question Number : 55 Question Id : 1908891246 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following structures:

Choose the correct option for the structure(s) which are resonating structures of phenol.

IT and IIT only
L. IT and III only
L. ITand IV only
IT and IV only

e T b =

Options:

1908894917. 1
1908894918. 2
1908894919. 3

1908894920. 4
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Question Number : 55 Question Id : 1908891246 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GEGIGIECGRIEGIE R

=
Oron  Oobe o3, o O3
- =y e | = y V- :

$letiet St Fa Srgargt TEATE T4

. ae I AT II
. %ae LI 3R m
. %o LIOAT IV
. e DR IV

(e

[ ]

S Y

Options :

1908894917. 1
1908894918. 2
1908894919. 3
1908894920. 4

Question Number : 56 Question Id : 1908891247 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds 1s most reactive towards sodium metal?

1-Propyne
Methane
Ethyne
1-Butyne

b =

e R

Options:
1908894921. 1
1908894922. 2

1908894923. 3
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1908894924. 4

Question Number : 56 Question Id : 1908891247 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

famafafaa difet & & 9iftaw ug ¥ 9fa wa@ s Sl #iq § 0

1 - 9IS
PRI

LEIESE
|- e

[

-]

Sl

Options :

1908894921. 1
1908894922 2
1908894923. 3

1908894924. 4

Question Number : 57 Question Id : 1908891248 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the following molecules/intermediates/species:
A—BH;: B-SiHy: C-PCls; D-:CH;: E—NH;
Select the correct option for electrophile(s).

A.B.CandD only
A . Band C only
A only

A and D only

b =

el

Options :
1908894925. 1

1908894926. 2
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1908894927. 3

1908894928. 4

Question Number : 57 Question Id : 1908891248 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feraferi@e s | Fearedist | sfast & oo
A—-BH;: B-SiHy: C-PCl;;: D-:CH;: E—-NH;

SorFeAe! & T TEr e I+

1. 9 A.B.CHT D

2. F 94 A.BHT C

3. haol A

4. a4 AT D
Options:

1908894925. 1
1908894926. 2
1908894927. 3
1908894928. 4

Question Number : 58 Question Id : 1908891249 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The technique in which the liquid boils, when the sum of vapor pressure due to organic liquid
(Py) and that due to water (P;) becomes equal to the atmospheric pressure (P). is:

Sublimation
Fractional distillation
Steam distillation
Evaporation

= e b —

Options:
1908894929. 1
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1908894930. 2
1908894931. 3
1908894932. 4

Question Number : 58 Question Id : 1908891249 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T JFF STH T 3991 £ 79 FelAF O (PL)F FNOT I F F H I
AT Il F FROT (P2) AT G4 (P) F TR & A &

I FeaEd
. YA HTHEA
T HTHE
ElsicTl

[

Options:

19088949209. 1
1908894930. 2
1908894931. 3

1908894932. 4

Question Number : 59 Question Id : 1908891250 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The biopolymer stored in animal body 1s:

Amylose
Cellulose
Sucrose
Glycogen

T

Options:
1908894933. 1
1908894934. 2
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1908894935. 3

1908894936. 4

Question Number : 59 Question Id : 1908891250 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

mmﬁ*aﬁnﬁﬂwﬁﬁﬁ?w?:

Options:

1908894933. 1
1908894934. 2
1908894935. 3

1908894936. 4

Question Number : 60 Question Id : 1908891251 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The correct structure of the dipeptide glyeylvaline 1s:

Ha H H
H.N—C C‘, N r|: COOH
0 CH
{ ch’f \“‘CHE
HaC CHa
S
HoN E C N C COOH
!
g O
Hz
HaM C f‘:l
0
3.
CH,
Ha
Hol G E‘Z] A E COOH
4. ¢
Options:

1908894937. 1
1908894938. 2
1908894939. 3

1908894940. 4

Question Number : 60 Question Id : 1908891251 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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SRS TAEHddeld HI Hal 3IFT &
Ha H
H-MN C ﬁ M [‘3 COOH
O CH
1 Hng" M\%CH'J.
HaC CHa
o T
| 1
HoN E C—N——C—COOH
|
4. O
H2 H H
HaN C ﬁ N C COOH
0 CH,
3.
CH,
H 3 _
H,N—C L‘}“ N—C—COOH
4. 2
Options:

1908894937. 1
1908894938. 2
1908894939. 3
1908894940. 4

Question Number : 61 Question Id : 1908891252 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Consider the following reaction sequence:

8 H,S0
HaC—C=CH; 1.5y - A T2 e B

2.H,0 /H,0, / OH 413K

Major

The number of 7 bonds in product B is:

b =
e b = D

e s

Options:

1908894941. 1
1908894942. 2
1908894943. 3

1908894944. 4

Question Number : 61 Question Id : 1908891252 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

feafafaa sfafFar e &

HoS0,
H,C—C=CH, ! Biie > A—— " » B
H 2.H50 /H50, / “OH 413 K

Major

3cdig BH - =T &7 T&aT g

b =
faa b =

. el

Options:

1908894941. 1
1908894942. 2
1908894943. 3
1908894944. 4
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Question Number : 62 Question Id : 1908891253 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Grven below are two statements. one 15 labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: m-Nitrophenol 15 less acidic than p-mitrophenol.

Reason R: Nitro group helps 1n stabilization of the phenoxide 1on by dispersal of negative
charge due to resonance in p-nitrophenol.

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 1s not correct

A 15 not correct but R 1s correct

|

i S ]

Options:

1908894945, 1
1908894946. 2
1908894947. 3

1908894948. 4

Question Number : 62 Question Id : 1908891253 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A1 & Y T AT € 0 T A AFFYT (4) AR T F FRT (R) FT A g
HIFFUT () m - ATSEBA p - ASIPAT HT HILT FH FFAIT &l 2

FNU (R) : ABY FAE p-ABLOIAT H FIAG F FRUT FUMAS Y F Herd gan
FIATFAES 30 % B & #gg #1418

3E FUA & e H fawife fwed & ¥ ' 5o o

- (A) IR (R) 3 T IR (R). (A) FT T == g
- (@) HT (R) 2 T E T (R). (4) HT T e € g
(AW E T (R) T A B

- (A) W 7R E W] (R)HE

Options:

[ ]

[ N ]

1908894945. 1
1908894946. 2
1908894947. 3

1908894948. 4

Question Number : 63 Question Id : 1908891254 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Nitration of chlorobenzene occurs at ortho and para positions.
Reason R: Chlorine 15 a ring deactivator.

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R is not correct

A 1s not correct but R 1s correct

B o
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Options :

1908894949. 1
1908894950. 2
1908894951. 3
1908894952. 4

Question Number : 63 Question Id : 1908891254 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 2 FU G 7 g oF F d1f¥FUT (4) 3R g F FROT (R) FFT A
HAFAT (A): FaARE =T F7 Amear 3maf 3 tr fPufzat o g g

FROT (R) : FANT U 7 AT g

sFE FA F W # Wi R # ¥ W s o

1. (A) 3R (R) 3= | & AT (R). (A) Fr TEr =TT B

(A) AR (R) BT T & Ted (R). (A) Fr BE ;e AL R
A) T § Tq (R) WET G 8

(A) 8T 78 § W= (R) T &

| ]

=

Options :

1908894949. 1
1908894950. 2
1908894951. 3
1908894952. 4

Question Number : 64 Question Id : 1908891255 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The position of —Br classified in the given compound 1s:

H H CHa

Benzyl
Allyl
Vinyl
Alkyl

o

e s

Options:

1908894953. 1
1908894954. 2
1908894955. 3

1908894956. 4

Question Number : 64 Question Id : 1908891255 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fer v O A B THafa 1 _ effpa Fram smar 2

Br
i A/_\ CH,
@ﬁ_ﬁ \_/cH,

1. a3
(ueir)

EIHEE)
4. Ufewd

[ ]

Lt

Options :

1908894953. 1
1908894954. 2
1908894955. 3

1908894956. 4
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Question Number : 65 Question Id : 1908891256 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds was sigmficantly used to control the malaria in world war II7

Chloroquine
DDT

3. Sodmum chlorate
4. Sodmm arsinite

| ]

Options:

1908894957. 1
1908894958. 2
1908894959. 3

1908894960. 4

Question Number : 65 Question Id : 1908891256 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

faeafofea & & #la o1 9ifs freg g2 13 maftr & d5am & fow wnds &
¥ ST foram amm a1

1. FARIfEa

2. DDT

3. WIfsTA FE

4. HfEER e
Options:
1908894957. 1
1908894958. 2
1908894959. 3

1908894960. 4

Question Number : 66 Question Id : 1908891257 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The reaction given below is an example of:

0 O
)LD’JLCH ?

Hg': g }_{:HE
ch@m; - Hg"@fHH + CH,COOH

Nugcleophilic substitution reaction
Elimination reaction
Electrophilic substitution reaction
Free radical substitution reaction

b =

ol

Options:

1908894961. 1
1908894962. 2
1908894963. 3

1908894964. 4

Question Number : 66 Question Id : 1908891257 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A &1 IS ATHATHAT SHHT UF 30T ¢

D °

H.C” 0" “CH $-CH,
HEC@MZ - > * HgC‘@*NH + {]-IECDDI-E

y
%%
%

.
;
|
%

Options:
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1908894961. 1
1908894962. 2
1908894963. 3

1908894964. 4

Question Number : 67 Question Id : 1908891258 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The IUPAC name of the following amine is:

f"“«rﬁ%f”“a

P

N.N-Diethylbutylamine

N.N-Diethyl-N-butylamine
N.N-Diethylbutan-1-amine
N.N-Diethylbutan-4-amine

N R

Options:

1908894965. 1
1908894966. 2
1908894967. 3

1908894968. 4

Question Number : 67 Question Id : 1908891258 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Tefa@a otfl| 1 [upAC AT &

f’;““Hm

¥

1. N.N-sEUfdeegfed tH=
N.N-SEUfde -N- egfeetHia
3. N.N- SIEUfdeeges -1-0A
4. N.N-SEUfddegea -4- tHa

Options:

[ ]

1908894965. 1
1908894966. 2
1908894967. 3

1908894968. 4

Question Number : 68 Question Id : 1908891259 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following 3d elements has lowest density?

Sc
T1
Vv

n

b =

L

Options :

1908894969. 1
1908894970. 2
1908894971. 3

1908894972. 4

Question Number : 68 Question Id : 1908891259 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

g daa 70 e Oaccs G99 FR & 7

1. Sc
2. Ti
V

n

o

Options:

19088949609. 1
1908894970. 2
1908894971. 3

1908894972. 4

Question Number : 69 Question Id : 1908891260 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following oxides is used to estimate CO?

BrO
BrO;
0y
1,05

B I

Options :

1908894973. 1
1908894974. 2
1908894975. 3

1908894976. 4

Question Number : 69 Question Id : 1908891260 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AT 3=aEsr # ¥ Fi9 G AFEES COF HFadd H I9IET 2T 8 2

BrO
BrO 3
T
1,0s

e =

e

Options:

1908894973. 1
1908894974. 2
1908894975. 3

1908894976. 4

Question Number : 70 Question Id : 1908891261 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the given reaction (equation 1s not balanced), X' 1s

FeS; (s) + O3 (g) > X(s) + SO(p)

FeO
FerO;
Fe;Oy
Fe

[

[ N ]

Options:

1908894977. 1
1908894978. 2
1908894979. 3

1908894980. 4

Question Number : 70 Question Id : 1908891261 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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ar € awfAfrar F (gHieRr eaefoyg a6 &) X

FeS; (s) + 0 (g) »> X(s) + SOy(g)

FeO
FeaO5
:FE;CM
Fe

b =

e

Options:

1908894977. 1
1908894978. 2
1908894979. 3

1908894980. 4

Question Number : 71 Question Id : 1908891262 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Metaphosphoric acid (HPOj3); contains

1. 3 P-OH bonds. 3 P=0 bonds. 3 P-O-P bonds
2. 4 P-OH bonds. 2 P=0 bonds. 1 P-O-P bond
3. 3 P-OH bonds. 1 P=0 bond

4. 2 P-OH bonds. 2 P=0 bonds. 2 P-H bonds

Options :

1908894981. 1
1908894982. 2
1908894983. 3

1908894984. 4

Question Number : 71 Question Id : 1908891262 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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HETHIEHIH 37Fel (HPO:; 3 & gl & -

1. 3 P-OH HTEY. 3 P=0 HTEY, 3 P-O-P HEY
4 P-OH €Y, 2 P=0 HTE, 1 P-O-P HTEY
3. 3 P-OH €Y. 1 P=0 HTE

4. 2 P-OH HTEY. 2 P=0 T4, 2 P-H &Y

[ ]

Options:

1908894981. 1
1908894982. 2
1908894983. 3

1908894984. 4

Question Number : 72 Question Id : 1908891263 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following ores does not match with 1ts formula?

Bauxite — AlOy(OH)3 2 where 0 <x <1
Kaolinite — Al>(OH)451:05

Malachite — CuCO3;.2Cu(OH)
Calamine — ZnCQs3

b =

o

Options:

1908894985. 1
1908894986. 2
1908894987. 3

1908894988. 4

Question Number : 72 Question Id : 1908891263 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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ffofET et # @ Fi9 ¥ 3735F 71 q7 gAfoa J@ g 2

1. STFHES - AlO(OH)zox BT 0<x < 1
. FATAET — AlL(OH),S1:05

[ ]

3. HemEe — CuC03.2Cu(OH),
4. FATHAET - ZnCO3
Options :

1908894985. 1
1908894986. 2
1908894987. 3
1908894988. 4

Question Number : 73 Question Id : 1908891264 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

; . e ; . : Sy :
Select the correct option for elements in the increasing order of 1™ 1onization enthalpy:

Pb, Sn. Ge. S1

Pb<Sn<Ge<S1
Sn<Pb<S1<Ge
Sn<Pb<Ge<S5i
Pb<Sn<S1<Ge

e faa b =

Options:

1908894989. 1
1908894990. 2
1908894991. 3
1908894992. 4

Question Number : 73 Question Id : 1908891264 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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YIH HAAe Tedt & ded FA A deal (Pb. Sn. Ge #TS) % fov &I faoq oot

Pb<Sn<Ge<S1
Sn<Pb<S1<Ge
Sn<Pb<Ge<$Si
Pb<Sn<S1<Ge

T e o R

Options:

19088949809. 1
1908894990. 2
1908894991. 3

1908894992. 4

Question Number : 74 Question Id : 1908891265 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Lithium reacts with element X' make an alloy (white metal). used in bearings for motor engines.
i ¥ B
X'1s

Al
Mg
Pb
Cr

d= e o —

Options:

1908894993. 1
1908894994. 2
1908894995. 3

1908894996. 4

Question Number : 74 Question Id : 1908891265 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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it 7 X ¥ T =% oF By aig (239 ug) T € 3R sEe s
g & fSafr a9 & oS g1 o — 8

. Al
. Mg
Pb
Cr

A s

Options:

1908894993. 1
1908894994, 2
1908894995. 3

1908894996. 4

Question Number : 75 Question Id : 1908891266 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Identify 'P' in the given reaction (reaction is not balanced):

catal yst
Co

CO(g) + Hy(g)

CO, + H,0
CH:0H
HCOOH
HCHO

| B

N Y

Options:

1908894997. 1
1908894998. 2
1908894999. 3

1908895000. 4

Question Number : 75 Question Id : 1908891266 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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&r a5 HTAGRAT # P 9gT (ATHRar caatig A8 ) -
. catalyst

CO(p) + H2(®) —F, P
1. CO,+H;0
2. CH;0H
3. HCOOH
4, HCHO

Options:

1908894997. 1
1908894998. 2
1908894999. 3

1908895000. 4

Question Number : 76 Question Id : 1908891267 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange the following in the decreasing order of covalent bond length:

C-C,C-NC-H O-H

1. CC>CNeodeaaH > 0-H

2. CC>C-HSE- O—H

3. OC>CH>=>5 N

4. C-N>=>Co =it = CT
Options:

1908895001. 1
1908895002. 2
1908895003. 3

1908895004. 4

Question Number : 76 Question Id : 1908891267 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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eafo@a & gguaiss ¥Ey JF71E F Ued /4 H g

C-C, C-N, C-H, G- H

. N HE0-H

2 CExE-H>C-N>0-H

3 OO0 010N

4 NGO H > 0=H
Options :

1908895001. 1
1908895002. 2
1908895003. 3

1908895004. 4

Question Number : 77 Question Id : 1908891268 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the Modern periodic table, Scandium is placed in

Group-IITIA. Period-4
Group-IITA. Period-3
Group-IIIB, Period-4
Group-IIIB. Period-3

e o B

Options:

1908895005. 1
1908895006. 2
1908895007. 3

1908895008. 4

Question Number : 77 Question Id : 1908891268 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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HTyfAs Had RO #. Bhivsad F T@r 7134 §

I - IMMA. HTEd - 4
97 - IIIA, 39 - 3
3. g9 - IIB. HEd - 4
4. 99T - IIB. 394 - 3

—

[ ]

Options:

1908895005. 1
1908895006. 2
1908895007. 3

1908895008. 4

Question Number : 78 Question Id : 1908891269 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following statements related to quantum mechanical model of atom 1s
mcorrect?

The Schrodinger equation cannot be solved exactly for multielectron atom.

. The quantum mechanics predicts all aspects of the hydrogen atom spectrum.
It obeys the Heisenberg uncertainty principle.

The wave function is a mathematical function and has physical meaning.

| e

-

Options :

1908895009. 1
1908895010. 2
1908895011. 3

1908895012. 4

Question Number : 78 Question Id : 1908891269 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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farfafad & ¢ Fi9 @1 Fy7 WAL & F=ieA 7T Aza F T 76T 82

[a—

. Fg-geagta TR & fov AfSeR weer &1 g g A R o wwa
¢l

. FAICH T TS AN TIHEA F Tl qgepat i sfasaaoft 2

. T greadt & HaRadar e # a7 gl

. T G T AT Fod § AR gw AifaF g

= L] [ ]

Options :

19088950009. 1
1908895010. 2
1908895011. 3
1908895012. 4

Question Number : 79 Question Id : 1908891270 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Both carbon and silicon atoms belongs to group 14, both CO, and S10, are gases
and linear molecules.

Statement IT: BCl; and AICl; behave as Lewts acids, being electron deficient due to incomplete
octet of central atom.

In light of the above statements, choose the most appropriate answer from the options given
below

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement IT 1s incorrect
Statement I 15 incorrect but Statement I 1s correct

[ R —

e sl

Options :
1908895013. 1
1908895014. 2

1908895015. 3
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1908895016. 4

Question Number : 79 Question Id : 1908891270 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 2T Fud few AT £

FIT - 1 Fad I AT gat 9 148 0T & co, 3R sio, 3=t T 3k
W A gl

FUA - [1: BCl 3T AICL F58 37 1 I cUGER Fd ¢ Fiegd TAN] F ¢

FT B H I & T g w4 g &
ST FU & HF B et ¥ W e o

l. FY9 13T T2 J &
FUT 13T D2= 9 §

FU 1T ¢ fheg FUF 179 g1
FUT 17700 . o] FUT T £

[

Options :

1908895013. 1
1908895014. 2
1908895015. 3
1908895016. 4

Question Number : 80 Question Id : 1908891271 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4p and 5d orbitals have X and Y angular nodes, respectively. X and Y are respectively

0 and 1
1and 2
2and 3
Jand 4

N
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Options :

1908895017. 1
1908895018. 2
1908895019. 3
1908895020. 4

Question Number : 80 Question Id : 1908891271 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4p 3T sd FETHT F FAM: X 3T Y FI0T A5 1 X 3w vFA0 T -

1. 03T 1
1317 2
3. 23T 3
4. 33X 4

[ ]

Options:

1908895017. 1
1908895018. 2
1908895019. 3
1908895020. 4

Question Number : 81 Question Id : 1908891272 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2Pb0O + 4HNOs 2 2Pb(NO3), + 2H:0
Which type of reaction 1s taking place?

Combination reaction

Redox reaction

Acid-base reaction
Disproportion reaction

B e B

Options:
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1908895021. 1
1908895022. 2
1908895023. 3

1908895024. 4

Question Number : 81 Question Id : 1908891272 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2PbO + 4HNOj; a 2Pb(NO;), + 2H,0

o HraFFwarEr g

1. Farss dfafear
. ETFg HfARRar
HFeT - e AfAfRar
4. TEATATA HATHT

[

L]

Options :

1908895021. 1
1908895022. 2
1908895023. 3

1908895024. 4

Question Number : 82 Question Id : 1908891273 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statements are correct?

A. In diborane, each boron atom uses sp” hybrids for bonding.

B. CuS0y acts as an oxidising agent.

C. Orthoboric acid has a layer structure in which planar BO; units are joined by hydrogen bonds.
D. Vitamin B12 contains cobalt.

Choose the correct answer from the options given below:

1. AandB only
2. Cand D only
. Aand C only

v

3
4. BandC only

Options:

1908895025. 1
1908895026. 2
1908895027. 3

1908895028. 4

Question Number : 82 Question Id : 1908891273 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A=ffET su #§ ¥ 77 ¢ 79 T 0

A TEARA & ¥ AN TAW] HEY F4 & O op’ THROTF 354 HT £

B. CuS0, T HTEFEIFNF $T g FI FT £

C. {1dfaiis 37a $ TEA WA @t § F@ T Tolad BO; THEAT gREsIa Hay
CaRT S T £

D. a1 By, & Fharee & ¥l

e U a0 fawedt & ¥ 98 3o T

1. 9o AHT B
. $ad CHT D
3. %ad AR C
4. #ae BHR C

| R

Options:

1908895025. 1
1908895026. 2
1908895027. 3
1908895028. 4

Question Number : 83 Question Id : 1908891274 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as

Reason R
Assertion A:
Complex Color
1. [Xi[:HQD}J,LEﬂ)]j: (aq) - Pale blue
2. [Ni(H:0)(en)]™ (aq) - Blue/purple
3. [Ni(en)]" (aq) - Violet

Reason R: One of the most distinctive properties of transition metal complexes is their wide
range of colors.

In light of the above statements, choose the most appropriate answer from the options given
below

. Both A and R are correct and R 1s the correct explanation of A
. Both A and R are correct but R 1s NOT the correct explanation of A
. A 15 correct but R 15 not correct

b =

. A 15 not correct but R s correct

N ]

Options:

1908895029. 1
1908895030. 2
1908895031. 3
1908895032. 4

Question Number : 83 Question Id : 1908891274 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A g FYa T a0 § ;0% S AU (A) 3N @Y F FRO (R) FaT A 2

HAFAA (4):
w5 g
1. [Ni(H:O)(en)] (aq) - goT Aol
2. [Ni(HO)(enp]” (aq) - e / Hrereted
3. [Nilen)] (aq) : daret

FNT (R) : GHAV U] FFell % a8 Fafdrse quit # § v 3% @ $ Frgd
H@eT ¢l
3T FUA F el # wning GFed A ¥ v 3o T

ot

(A) 3R (R) 2 TG & IR (R). (A) T T <=ET 2

. (A) IR (R) ST TN § T (R). (A) T WET EAET G £
. (A) WS § W (R) TET AT 2

. (A) W AE § g (R) FET £

[

N X

Options:

19088950209. 1
1908895030. 2
1908895031. 3

1908895032. 4

Question Number : 84 Question Id : 1908891275 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: Generally. only non-metal oxides are acidic but oxides of some metals in high
oxidation state also found to have acidic character.

Statement IT: Oxides like CO. NO and N,O are neutral oxides.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

B e

Options:

1908895033. 1
1908895034. 2
1908895035. 3

1908895036. 4

Question Number : 84 Question Id : 1908891275 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 3 FAA g AT §

FUA - 1: WA, F90 Hlcas FHFABS 30 g £, ofehed IO argst &
HIFHTSS 3Tl 3= ATFAHI0T JTEA H HFT TPpia F T T §l

FUT - 11 3FAES 39 F 0. N0 37 N0 3ede FaEs Al g
TR FUAT & HAF F it FEedt # ¥ ®1 3o I

1. Fua 13T D34 T8 &
Fud [ AT 14T 90 £
FI4 1FE £. fheq FIa7 1700 £l
FIF 197000 ¢, e FIF [T E

[

= e

Options:
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1908895033. 1
1908895034. 2
1908895035. 3

1908895036. 4

Question Number : 85 Question Id : 1908891276 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: A process or change 1s said to be reversible, if a change 1s brought out m such a
way that the process could at any point be reversed by a finite change.

Statement II: A reversible process proceeds infinitely slowly by a series of equilibrium states
such that system and the surrounding are always 1n near equilibrium with each other.

In light of the above statements, choose the correct answer from the options given below

Both Statement I and Statement II are true

g =

Both Statement I and Statement II are false
Statement [ 15 true but Statement 11 15 false
Statement I 1s false but Statement I 1s true

SN ]

Options:

1908895037. 1
1908895038. 2
1908895039. 3

1908895040. 4

Question Number : 85 Question Id : 1908891276 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Ad T FAT Er v §

FIF - 1: T THH T TNEad 737 IHAUIT THH Fgordl ¢ 99 39 fordr off &or
WAT MEad F @R 3T a1 31 T5)

FUF - 11: T IHAUT A F5 TEIEENH # 3ed GA 0 F 0 THF0 300
9eaT § T TR U9 UNEY FHAT T WEAEEN H A £

S FUA ¥ A PR e ¥ W 3R

. FUF 137 1= e E

2. F4F 13X e 79d g

. YT 1FE 8. e FUa L 70 £
. FF 1709 ] FuT 1FE

N LrSe) -l —t

Options :

1908895037. 1
1908895038. 2
1908895039. 3

1908895040. 4

Question Number : 86 Question Id : 1908891277 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one is labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Combustion of all organic compounds 15 an endothermic reaction.

Reason R: The standard enthalpy of formation of an element in reference state 1s taken as zero.
In light of the above statements, choose the correct answer from the options given below

Both A and R are true and R 1s the correct explanation of A

Both A and R are true but R 1s NOT the correct explanation of A

A 15 true but R 1s false
A 1s false but R 1s true

|

= b

Options:
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1908895041. 1
1908895042. 2
1908895043. 3

1908895044. 4

Question Number : 86 Question Id : 1908891277 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 3 A G v § o A HFEE (A) #R TE B FRONR) FaT A E

HiFFAT () Tt Frfe qGErt F g U FAT afAfHa

FNT (R): T HIeq & R 9T F 9 F AE e H T F w9 A
forar s §

T FUAT F HAF F fAwifea BEedt & ¥ 78 5w g

—

A) 3T (R = wEr € 3T (R). (&) Fr T e g
A) 3R (R) BT TE § T (R). (A) T T e AL
A)TE € =g (R) WET AL &

(A) WT &1 § T=q (R) FE &

Options:

[ ]

(
(
(

L)

o

1908895041. 1
1908895042. 2
1908895043. 3

1908895044. 4

Question Number : 87 Question Id : 1908891278 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1 3 g : 3 i . 3 N . 5
The molar conductance of acetic acid is 40 S em’mol™. If the dissociation constant is 1 x10” mol
T . : L . 3 . 7
L, then the concentration of acetic acid is (AD;\-&:.LE 90 S cm“/mol. ADMCﬁ 120 S em™/mol. and
Y 2
A%cr 430 Sem’/mol)

1. 9x10* mol L
2. 9x10° mol L
3. 400 Sem’ mol”
4. 40 Sem’ mol™

Options:

1908895045. 1
1908895046. 2
1908895047. 3

1908895048. 4

Question Number : 87 Question Id : 1908891278 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

UTHTesH 3%l HI Aol Trohar 40 Scmjmol'lg'l TRafed 3F H AeEdT A9 FLARE
SHEAT HIAA B 1x10° mol L ﬁl (:\0_\1;@: 90 S cm’/mol, ;\Emc-]: 120 S em’/mol.
AT AUHC-F 430 Sem’ mol)

0x 10"1 mol !
9% 107 mol L™
400 Sem’ mol?
40 Sem’ mol”

[ TR —

:Ila.E_J-

Options:

1908895045. 1
1908895046. 2
1908895047. 3

1908895048. 4

Question Number : 88 Question Id : 1908891279 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following expressions 1s correct for the molar conductivity of strong electrolytes?

1. Aﬂma-xm-ﬁ(cf?
B Ag= -a A( 11'1
K= (11
;J’m—fl ﬁu.,;

b T

Options:

1908895049. 1
1908895050. 2
1908895051. 3

1908895052. 4

Question Number : 88 Question Id : 1908891279 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Yad dedNTUST HT AR ATl + (a0 Hld TT T+ Hel &7

A= Am Fuej
A= A 2 A(c
Ap= R m ?
A=A 13..]

by —

e Laa

Options:

1908895049. 1
1908895050. 2
1908895051. 3
1908895052. 4

Question Number : 89 Question Id : 1908891280 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Catalyst provides an alternate pathway or reaction mechanism by reducing the
activation energy between reactants and produets.

Reason R: Arrhenius equation confirms that higher the value of activation energy faster will be
the rate of a reaction.

In light of the above statements. choose the most apprepriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A s correct but R 1s not correct

A 15 not correct but R 1s correct

N e

Options:

1908895053. 1
1908895054. 2
1908895055. 3

1908895056. 4

Question Number : 89 Question Id : 1908891280 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A9 3 FuT T a7 § 0 OF F AFFEA (4) IR gEY FOFWOT (R) F T 2

HEFUT (A) : 36RF HUFRH T 3cmer F 99 TR0 FH T FE =
Sfeus ARt o1 fFafafdr ser= Far 2

FROT (R) : FTIE THROT [z FTaT § & TR0 5 #7 Jog foaar #fos
e, it f fa 33 & 3 gl

3T FUA F oA A faraAihd [Ghedl # ¥ Tel Fecl et

(A) 3R (R) T T E AR (R). (A) FT FEr <= £

- (A) 3R (R) 3 WE E W (R). (A) FT T e A g
. (A) T € T (R) WE A L

. (A)WEr T § T (R) T B

Options :

=y Ca B} —

1908895053. 1
1908895054. 2
1908895055. 3
1908895056. 4

Question Number : 90 Question Id : 1908891281 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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For a zero order reaction. the rate constant 1s

_ [Rls—I[R]
N t

ﬁ#

Which of the following 1s the correct graph for 1t?

R]

[ R
-

E]

[R]

4. 5
Options:
1908895057. 1
1908895058. 2
1908895059. 3

1908895060. 4
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Question Number : 90 Question Id : 1908891281 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. [Rlo—[R]

T B B AR & oA Ragiw T ¢ R

R s g s orycEsgs RMIT @Er g ?

R]
[R]
3 t
M\
\\
[R] X
Lmr O\
R] N
Y
%, t
-
.z"-’-f.f
/f’
[®] yF

[R]

4, ¥
Options:
1908895057. 1

1908895058. 2
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1908895059. 3

1908895060. 4

Question Number : 91 Question Id : 1908891282 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s not related to the purification of colloidal solutions?

1. Dialysis

2. Ultrafiltration
Tyndall effect
Electro-dialysis

sl

Options:

1908895061. 1
1908895062. 2
1908895063. 3

1908895064. 4

Question Number : 91 Question Id : 1908891282 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frmafafEa & & Fia &1 FiaEs et F gfeFwor § w&foT 7@ & 0

1. ¥9Ed

. wfagewr fawrea
. f&so v

. 9ggd A

Options:

[ ]

e T

1908895061. 1
1908895062. 2
1908895063. 3

1908895064. 4
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Question Number : 92 Question Id : 1908891283 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following empirical relationships is given by Freundlich?

xm=k. pl':u (n>1)
xm=k p™(n<1)
m'x=k p™(n>1)
mx=k p™(n<1)

b =

il

Options:

1908895065. 1
1908895066. 2
1908895067. 3

1908895068. 4

Question Number : 92 Question Id : 1908891283 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f=fefaa & ¥ 19 ar yaentdg gay wia=sfog a fgam

xm=k p *(n>1)
xm=k p"™ (n<1)
mx=k p®(a>1)
mx=k p®(@<1)

[ S

e g

Options:

1908895065. 1
1908895066. 2
1908895067. 3

1908895068. 4

Question Number : 93 Question Id : 1908891284 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

The edge length of the unit cells constituting simple cubic lattice, bee and fee unit eells in term
of the radius of spheres (r) are respectively

0.5r, 0.43r, 0.35r
0.35r. 0.43r, 0.5r
. 230, 2.83r
2.83r, 2.31r, 2r

| R

S )

Options:

19088950609. 1
1908895070. 2
1908895071. 3

1908895072. 4

Question Number : 93 Question Id : 1908891284 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el FT ST () F IS F T TAT F10F. bee T fee F T arell & ohaami 1
A FAL: ¢

0.5r.0.43r, 0.35r
0.35r, 0.43r, 0.5r
2r, 2.31r, 2.83r
2.83c, 2.318, 2r

T e B

Options:

19088950609. 1
1908895070. 2
1908895071. 3

1908895072. 4

Question Number : 94 Question Id : 1908891285 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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For the substance of atomic mass 63.1u, X-ray diffraction studies determine the edge length that
. 1 Gt ] R
is 4x 107 cm. have a density of 6.8 g/em’. What are the numbers of atoms per unit cell?

One
Two
Three

o =

i b

Four

Options :

1908895073. 1
1908895074. 2
1908895075. 3

1908895076. 4

Question Number : 94 Question Id : 1908891285 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WAES 50/ 63.1u e & for g o faaae seaae fuifg #R o
3608 x 10°em 3R UIeT 8.9271 e’ €| 56 ot T FifSaat # forel wwwmy &

4% g

Options :

1908895073. 1
1908895074. 2
1908895075. 3
1908895076. 4

Question Number : 95 Question Id : 1908891286 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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What would be the final volume of the gas, if pressure of 3L of H» is tripled and temperature 1s
rased from 300K to 400K?

0.67L
133L
25L
30L

o =

gt

Options:

1908895077. 1
1908895078. 2
1908895079. 3
1908895080. 4

Question Number : 95 Question Id : 1908891286 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I SLE N # g@ O I I 7 AR a9EE 300K & 400K 7 @ e
T a3 F AE AEa 1w e o

1. 067L
Z. 133K
3. 25L

4 30L
Options:
1908895077. 1
1908895078. 2
1908895079. 3

1908895080. 4

Question Number : 96 Question Id : 1908891287 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The temperature at which a real gas obeys 1deal gas law over an appreciable range of pressure 15

called

Absolute temperature
Boyle temperature
Critical temperature
Kelvin temperature

b =

Options:

1908895081. 1
1908895082. 2
1908895083. 3

1908895084. 4

Question Number : 96 Question Id : 1908891287 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9 a9 W W Fig TR #9 w@ivg g9 f A F e 3 i a6 @Femn
AT & FEenT 8

1. WA a9

2. 919 A9
. Fifa® a9
4. Ffoad M

-

L )

Options:

1908895081. 1
1908895082. 2
1908895083. 3

1908895084. 4

Question Number : 97 Question Id : 1908891288 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 117


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

A non-volatile solute (Molar mass 58 g/mol) of 0.9 g was dissolved m 90 g of benzene (boiling
point of benzene = 353.23 K. The boiling pomnt of solution 1s

[Given: Ky, for benzene = 2.53 K kg mol ]

351.79K
353.67TK
35397K
35417K

b =

LS Y

Options:

1908895085. 1
1908895086. 2
1908895087. 3
1908895088. 4

Question Number : 97 Question Id : 1908891288 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0.9 g 3aTeafie el (AR GeTAT 58T/ AIe) F 90 g d=ald H Hiell AT (deaAld
F FIAF = 353.23K) . Foma &1 F99aF gem

[ar_ﬂﬁﬂ' ¥ foT K= 253K kg 11101_1]

351.79K
353.67TK
353.97K
35417K

de L o =

Options:

1908895085. 1
1908895086. 2
1908895087. 3

1908895088. 4

Question Number : 98 Question Id : 1908891289 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT

Concentration expression Uses

A. Mass percentage I. Medicine

B. Volume Percentage II. Concentration of pollutants

C. Mass by volume percentage [II. Industrial chemicals

D. Parts per million IV. Liquid solutions

Choose the correct answer from the options given below:

A-IIL B-IV, C-II. D-I
A-IIL B-II. C-IV. D-I
A-IIIL B-IV, C-1. D-II
A-IIL B-I1. C-II. D-IV

bd =

et

Options:

1908895089. 1
1908895090. 2
1908895091. 3

1908895092. 4

Question Number : 98 Question Id : 1908891289 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T IR -1 @ gARfea FifsT

ol -1 T -11

Higan AfRaFa ERDIL

A, FeIAT giaerd 1. drwferat

B. {1 de Fiderd 11 SENaT T Figdr
C. FeTHATT HIAA Ffaerd 111, e T
D. rew gia A= V. garr e

A= T 71T et & @ wér 3o giAv

A-TIL B-IV. C-II. D-I
A-IIT, B-II, C-IV. D-I
A-IIL B-IV., C-1. D-II
A-TIL B-I. C-II. D-IV

e L a =

Options:

1908895089. 1
1908895090. 2
1908895091. 3

1908895092. 4

Question Number : 99 Question Id : 1908891290 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following species is/are Lewis acid?

A.BCl;

Choose the correct answer from the options given below:

A.B. C and E only
A and B only

B only
A.B and E only

N O

Options:

1908895093. 1
1908895094. 2
1908895095. 3
1908895096. 4

Question Number : 99 Question Id : 1908891290 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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f=faf@a 7 @ Fia @ gonta g« 35 g8

A. BCl

e fer aT fosedt # ¥ WEY 3o} I+ ¢

Fad A.B.C3IHR E
Fad AR B

3. %9 B

4. g A.BAR E

ki

[ ]

Options:

1908895093. 1
1908895094. 2
1908895095. 3

1908895096. 4

Question Number : 100 Question Id : 1908891291 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the given equilibrium,
2NOCI(g) = 2NO (g) + ChL (g)

The value of the equilibrium constant, K. at 100 K 1s 3 x 10™. The value of K, for the same
reaction at 1000 K 1s

| S
| S S e TR e
L -

[ S ]

Options:
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1908895097. 1
1908895098. 2
1908895099. 3

1908895100. 4

Question Number : 100 Question Id : 1908891291 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
few v wF T,
INOCl (g) = 2NO (g) + Ch (g)

&g 100K a9 T TFF fBR% Ke# A3 x 107 8| T 3030w & w1000k
a9 9 Kp T A g

0.25
0.025
25
25

e L s

Options :

1908895097. 1
1908895098. 2
1908895099. 3
1908895100. 4

Part C Biology

SectionId: 19088938
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
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Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 19088964
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 1908891292 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the technique 1s associated with In-vitro DNA replication

A. Polymerase chain reaction

B. ELISA

C.RT-PCR

D. Biolistics (gene gun)

E. Transformation

Choose the correct answer from the options given below:

1. A only

2. A& Conly

3. A&Donly

4. C &E only
Options :

1908895101. 1
1908895102. 2
1908895103. 3
1908895104. 4

Question Number : 101 Question Id : 1908891292 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T+ 7T 91 =+ ¥ DNA 9fa®9or # 99 §

A 9T =9 fRar

B. TfordT (ELISA)

C. ¥R & - 9F O - 3 (RT-PCR)

D. STgifereesh

E. §9T=a 0T

AT foT av Asedt # ¥ §Er 3ol I+ ¢

1. AHET

AdAr CHF
3. Addr DA
4. CTAT EATH

[ ]

Options:

1908895101. 1
1908895102. 2
1908895103. 3
1908895104. 4

Question Number : 102 Question Id : 1908891293 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

List I List IT

A. Pusa Gaurav  [I. Fruit borer

B. Pusa Sawami  |II. Aphids

C. Pusa Komal TIL. Tobacco Mosaic Virus
D. Pusa Sadabahar|IV. Bacterial blight |

Choose the correct answer from the options given below:

A-IV.B-III.C-II.D-1I
A-ILB-ILC-IID-1IV
A-II.B-LC-IV.D-III
A-TMB-IV.C-1.D-I

b it

el

Options:

1908895105. 1
1908895106. 2
1908895107. 3
1908895108. 4

Question Number : 102 Question Id : 1908891293 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T -IF R -1 § gAfeT fifeT

=T AT =T -1

A THT TIRT L e TF

B. THT HIE=T IL THIEH

C. THT FIA I11. S ATEF JATH

D. THT HETaER IV. Sarfdas FaEe (blight)

A T o RBFeat & ¥ WEr 3 gAT

A-IV.B-NIII.C-II.D-1I
A-ILB-LC-IIL.D-IV
A-ILB-L.C-IV.,D-1III
A-IIILB-IV.C-1.D-1I

N o

Options :

1908895105. 1
1908895106. 2
1908895107. 3

1908895108. 4

Question Number : 103 Question Id : 1908891294 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

List I List IT

A Interferons I. Isolation of DNA |
B. Diacetylmorphine [II. Rupture of RBC |
C. Lysozyme III. Opioid

'D. Haemozoin IV. Cytokine barrier

Choose the correct answer from the options given below:

1. A-IIMI.B-II.C-IV.D-1I

2. A-IV.B-TIIILC-II,D-1I

3. A-IV.B-NII.C-1.D-II

4. A-II.B-LC-III.D-IV
Options:

1908895109. 1
1908895110. 2
1908895111. 3

1908895112. 4

Question Number : 103 Question Id : 1908891294 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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o= -IFIEER - ¥ gAfed RS

-l T -1

A, TR I. DNA FT THI0T
B. STETHITEA h I1. RBC T ®ZaAT
C. ATIHSEH 1. HT3TEs

D. fFHEEET IV. HTIEIFES arem
A fer aT fawent # ¥ WE 3cw gAT

1. A-III.B-II.C-IV.D-1
2. A-IV.B-III.C-II.D-1I
A-IV.B-III.C-L.D-II
A-II.B-LC-IIILD-1IV

W

Options :

1908895109. 1
1908895110. 2
1908895111.3

1908895112. 4

Question Number : 104 Question Id : 1908891295 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

List I List I

A. Fast muscle fibres |I. Myoglobin

B. Slow muscle fibres [II. Lactic acid

C. Actin filament TIL. Contractile unit|
D. Sarcomere IV. I-band |

Choose the correct answer from the options given below:

1. A-LB-II.LC-IV.D-1III

2. A-IILB-LC-TIILD-1IV

3. A-ILB-LC-IV,.D-1II

4, A-IIILB-II.C-IV.D-1I
Options:

1908895113. 1
1908895114. 2
1908895115. 3

1908895116. 4

Question Number : 104 Question Id : 1908891295 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T -1 FTEE -1 ¥ gARTeT FfeT

T I & -1

AT 9ol d9 I AT afe

B. d1AT 93ft 99 11 aifFes 7F=

C. UfFe g 111, FF=IA2feT IS
D. TLHITHTT IV.I-4%

A= T av et & ¥ wEr 3o gav

A-ILLB-II.C-IV.D-III
A-IILB-LC-II.D-IV
A-ILB-LC-IV.D-III
A-IIILB-ILC-IV.D-1I

bt

ol o

Options :

1908895113. 1
1908895114. 2
1908895115. 3

1908895116. 4

Question Number : 105 Question Id : 1908891296 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

ListI List I
A. Lichens I. Pioneer species
B. Invade bare area |II. Hydrosere

C. Reed swamp stage |IIL. Final stable community
D. Climax IV. Lithosere

Choose the correct answer from the options given below:

A-IV.B-LC-IIL.D-III
A-IV.B-II.C-1LD-1II

| S

3. A-IIILB-IV.C-1.D-1II
4, A-ILB-LC-IV.D-1III
Options:

1908895117. 1
1908895118. 2
1908895119. 3
1908895120. 4

Question Number : 105 Question Id : 1908891296 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T -IFIHE - § AT FITaT

T -1 =T -1

A TEFRA LYHE ST

B. {FH HOAA &F II. A

.C'.ﬁ{ii’-rl ZoEd HIEAT 1L A#fas TR wmErfe
D. T(H FIEAT V. TITHS

A T a7 Feedt & ¥ W 3c giAT

A-IV.B-LC-II.D-III
A-IV.B-II.C-LD-III
A-TMI.B-IV.C-1.D-II
A-IILB-LC-IV.D-III

L

-
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Options :

1908895117. 1
1908895118. 2
1908895119. 3
1908895120. 4

Question Number : 106 Question Id : 1908891297 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT

A. Aposematic coloration |I. Cuckoo bee

B. Batesian mimiery IT. Hawkmoth larva
C. Mullerian mimicry II1. Poison dart frog
D. Cryptic coloration IV. Canyon tree frog

Choose the correct answer from the options given below:

A-IV.B-1LC-III.D-1I
A-IILB-IIILC-IV.D-1I

b

3. A-IILLB-ILC-1L,D-1IV
4, A-NILB-LC-IV,D-1I
Options:

1908895121. 1
1908895122. 2
1908895123. 3

1908895124. 4

Question Number : 106 Question Id : 1908891297 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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g -1 T -1 § AT HITAT

T -1 ..H\T-ﬁ il

A TaifEAREE T I FF A+l

B. FTTHTH 3geI0r T1. ETFATT A&7
.7 s 111 faw 3 #ew

D. f¥¥e® T IV. 573 &7 AIH

A= QT 77 Jeedt # ¥ 88 3o giAv

A-IV.B-LC-IIILD-II
A-II.B-IILC-IV.D-I
A-TML.B-IILC-IL.D-IV
A-TMI.B-1.C-IV.D-1II

bt

ol o

Options:

1908895121. 1
1908895122. 2
1908895123. 3
1908895124. 4

Question Number : 107 Question Id : 1908891298 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange 1n correct sequence in respect of respiration

A, Breathing or pulmonary ventilation by which air 1s drawn in and CO; rich air 1s released out
B. Diffusion of O; and CO; between blood and tissue

C. Transport of gases by the blood

D. Diffusion of O, and CO; across alveolar membrane

E. Utilization of O, by the cells for catabolic reactions and resultant release of CO,

Choose the correct answer from the options given below:

b
Y,
s

ol Nl
'b"\-\.n"\.'
w=

W
[ms|

Y]

e
oo w
A ALY A

[ N ]

Options :
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1908895125. 1
1908895126. 2
1908895127. 3

1908895128. 4

Question Number : 107 Question Id : 1908891298 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS ¥ TeH H T FH F 997 F{

A FATH AT ST GeAed dfeerrs Ord gar siey & el § 39 o, ¥ Ay A
e S £

B. 79 3T 39! & AT 0, T CO,H famwmr

C. T IR 90 FT 95

D. 0, 74T CO, F1 FHFr fFreelt F o foawwor

E. it 2w 0, Fr qanr feweasat st & #5399 o, 7 fAwean

A for o fSeedt # ¥ HEr 3o I

. A>B>C>D>E
. A>C>D>B>E
3. D>B>C>E>A
4. A>D>(C>B>E

b bt

Options:

1908895125. 1
1908895126. 2
1908895127.3

1908895128. 4

Question Number : 108 Question Id : 1908891299 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: A color blind girl is rare because she will inherit the trait only when her father and
maternal grandfather were color blind.

Statement II: A color blind mother and normal father would have color blind sons and
daughters.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement I are correct
Both Statement [ and Statement II are mcorrect

3. Statement I 1s correct but Statement II 1s incorrect
4. Statement I 1s incorrect but Statement IT 1s correct

b —

Options:

1908895129. 1
1908895130. 2
1908895131. 3

1908895132. 4

Question Number : 108 Question Id : 1908891299 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A @ g T A §

FUF - 1: JUNT F47 1 31H1H|ru?agalmag?rm¢%vmﬁmmm
F1 &ff JUTYT B ETF F

FY - 11: T F0MT AT 707 TAT e & 7 77 T Foiner gy
3T FUA F A # Ao e § ¥ T 5 9

1. FUF 137 D23 T &

2. FUF 13T DA 38T €|

3. FUF 16 . foheq U 11 38T g
4. FUF 1¥EA 8. e FU7 TEAE
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Options :

1908895129. 1
1908895130. 2
1908895131. 3
1908895132. 4

Question Number : 109 Question Id : 1908891300 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Concentration of methane in the atmosphere has been doubled in last 250 years

Reason R: Wetlands and rice-fields are the major sources of methane

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
. A 1s correct but R 15 not correct

|

3
4. A is not correct but R 1s correct
Options:
1908895133. 1
1908895134. 2
1908895135. 3

1908895136. 4

Question Number : 109 Question Id : 1908891300 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A 2 Fu foU AT € oF F qfFFUT (A) #T ZE FOFROT(R) FT A 2

HEFY (A): TgETET # AT Fr a7 e 250w # e A g

FIOT(R) : T & @ I iz #1907 F T T 2

TS FUA F FAF F i Few & § w9 3o I

b

. (A) 3T (R) AT TE E AT (R). (A) FT TE TR B
(A) HR (R) 2T TET & g (R). (A) T TET corean 720 £l
. (A) ¥ E W] (R) HEA £

. (4) 3T Ve (R) T &

[ -

Ll

o

Options:

1908895133. 1
1908895134. 2
1908895135. 3
1908895136. 4

Question Number : 110 Question Id : 1908891301 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Organisms that do not enrich the nutrient quality of the soil

1. Bactena
2. Fungi

L]

Cyanobacteria
Myecorrhiza

o

Options :

1908895137. 1
1908895138. 2
1908895139. 3

1908895140. 4

Question Number : 110 Question Id : 1908891301 Question Type : MCQ Option Shuffling : No
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&g 1 397 amar e & wewE AT F oA F

1. SEm]
FRE

TIOATa =T
4. ATSHRTSAT

Options:

[ ]

L]

1908895137. 1
1908895138. 2
1908895139. 3

1908895140. 4

Question Number : 111 Question Id : 1908891302 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List II

3 = ;
A. Coeclomates IL. Aschelminths

B. Pseudocoelomates TI. Fi:aghelminths

C. Acoeclomates TII. Annelids

D. Diploblastic IV. Coeclenterates

Choose the correct answer from the options given below:

1. A-ILB-LC-I.D-1IV
2. A-IIILB-1I.C-II.D-1IV

3. A-ILB-LC-IV.D-1III
4, A-LB-II.C-III.D-1IV
Options:

1908895141. 1
1908895142. 2

1908895143. 3
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1908895144. 4

Question Number : 111 Question Id : 1908891302 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T -1 FEE - ¥ gAfeg T

=T -1 =T -1

A YR I. TERgToAad
B.TH T I1. SolCTg oA Y
C. 79feF I11. TAIferE

D. i v, ey

4

drer fgr o et & ¥ WEF e IfAv

A-IILB-LC-IILLD-IV
A-TM.B-1L.C-II.D-IV
A-II.B-LC-IV.D-III
A-ILB-ILC-IILLD-IV

| ]

oo

Options :

1908895141. 1
1908895142. 2
1908895143. 3

1908895144. 4

Question Number : 112 Question Id : 1908891303 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 1s labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: Ecotherms are able to remain active under cold conditions.

Reason R: This happens because they are able to maintain a constant internal temperature, even
when the temperature outside fluctuates.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R 15 the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A
3. Ais correct but R is not correct

4. Aisnot correct but R 1s correct

Options:

1908895145. 1
1908895146. 2
1908895147. 3

1908895148. 4

Question Number : 112 Question Id : 1908891303 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT 2T FAT BT 7§ : UF F HFFAS (A) HT B F FWOT(R) FgT AT Z
HiIFUT (A): TETTHT T F o THT @ o9 £

FRT(R) : TE 38 ZaNT 9 AR FT SANF TOA a7 F FROT g § &
3 I F J9AR F Faar off T @

IYFT FUA F HAF 7 AT e & § 78 3o I

[—

(A I R) I T AT (R). (A) FT TG A g
(A) HR (R) A T & T (R). (A) T el AE T A
3. (A)FF § W] (R) ¥ET £

(A) 3T E W= (R) T £l

| ]

=
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Options :

1908895145. 1
1908895146. 2
1908895147.3

1908895148. 4

Question Number : 113 Question Id : 1908891304 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following characteristics differentiate bryophytes from algae
A. Attachment to a substratum by unicellular rhizoids

B. Haploid condition

C. Filamentous body

D. Umcellularity and colonial habitat

E. Lack of true roots and stem

Choose the correct answer from the options given below:

1. A C.Donly

2. A.B.C.D only

3. A.B.E only

4. B,C.D.E only
Options:

1908895149. 1
1908895150. 2
1908895151. 3

1908895152. 4

Question Number : 113 Question Id : 1908891304 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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fAF=7 oTeT0T FTOmIEe FuT e H f¥eAar gotar £
A TF FIFT TS TFRT 3R § {319
B. 30T HTEAT

C. AT [T

D. UF FIHT TAT THg HEHA
E.Gcd Fsr 27 a4 # 39T
A fT 717 Reedt # ¥ " 3o/ g4 ¢

1. A CHAr DATT
2. AB.CTaT DHEEF
3. ABTYT EHT
4. B.C.DJIT EHAFT

Options:

1908895149. 1

1908895150. 2

1908895151. 3

1908895152. 4

Question Number : 114 Question Id : 1908891305 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements
Statement I: Pyranud of energy 15 always upright. can never be mverted

Statement II: When energy flows from one trophic level to next trophic level. some energy 1s
always lost as heat

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement I are correct
Both Statement I and Statement IT are incorrect
Statement I 1s correct but Statement II 15 incorrect
Statement I 1s incorrect but Statement I 1s correct

bt =

L

Options:

1908895153. 1
1908895154. 2
1908895155. 3

1908895156. 4

Question Number : 114 Question Id : 1908891305 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT T FUT BT AT E

FT - 1: 531 71 AT 5eT oo 2 £ o o 3o A v 8

FYA - 1174 Fa1 TF G007 T & 390 Fofl T T ST § 79§ F Fal

1 &TE & £
3R FUA F A A famfafls e # § % 5o 9

. FUF 13X D T8 E

. BT AR I W

. FUF 187 £, fFeq F99 1397 £l
. FUF 1797 8. fFg F9F 05T £l

o L) [ f—

Options:

1908895153. 1
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1908895154. 2
1908895155. 3
1908895156. 4

Question Number : 115 Question Id : 1908891306 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Decomposition

A 1s favored by warm and dry environment

B. gives rise to humus and inorganic nutrients

C. 15 dependent on oxygen availability

D. involves fragmentation. catabolism and leaching

E. 1s faster when detritus 1s low in nitrogen and sugars
Choose the correct answer from the options given below:

1. A.B.C&D only
2. B.C,D &E only

3. B.C &Donly
4. A.C &E only
Options :

1908895157. 1
1908895158. 2
1908895159. 3
1908895160. 4

Question Number : 115 Question Id : 1908891306 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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HYEEA

AT FT YF ITATEIOT FEAF Bl &

B. % HATa®T YA JUT HFE(H GI9F docd a0 &

C. 3TFda Fr Fqaeyar 97 AT g &

D. I QUSRI J9=1d JT Feres gar &

E. {¥I7ErAT g2l 9 1T Jar Asciad. o 8 WY a1 gar &
a4 o T Roeedt 7 ¥ WEr 3o W 9

1. Fel A.B.CTAT D
2. #FI B.C.DAATE
3. FFel B.CTAT D
4. I A.CTATE

Options :

1908895157. 1
1908895158. 2
1908895159. 3

1908895160. 4

Question Number : 116 Question Id : 1908891307 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

List I List IT

A. Isogamous I. Cyeas

B. Heterosporous |I1. Spiregyra
C. Gemmae 1. Selaginella
D. Coralloid root |IV. Marchantia

Choose the correct answer from the options given below:

A-II.B-LC-IV.D-1II
A-II.B-IIILC-IV,D-1
A-IILB-LC-III.D-1IV
A-II.B-III.C-L.D-1IV

| S

B

Options :

1908895161. 1
1908895162. 2
1908895163. 3

1908895164. 4

Question Number : 116 Question Id : 1908891307 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T I T -1

A FHRITHS! 1. SrE

B. RwATEr I1. T
C. HEol 111 fRrersfiser
D. g SThIT 3 IV. ATGRATET

A for T et 7 § W@ 3R gfAT

1. A-IILB-LC-IV.D-1III
2. A-ILLB-TOI.C-IV.D-1I
3. A-ILB-L.C-TII.D-1IV
4. A-ILB-OIL.C-LD-1IV

Options:

1908895161. 1
1908895162. 2
1908895163. 3
1908895164. 4

Question Number : 117 Question Id : 1908891308 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find out the correct match with respect to Mollusca

1. Bivalva —No head. foot wedge shaped. shell of two valve hinged

2. Gastropoda — Rudimentary head. foot conical and shell tubular

3. Amphineura - head reduced. foot large or reduced. shell comprises a row of plates
4. Monoplacophora — distinct head. flat foot. visceral mass segmented

Options :

1908895165. 1
1908895166. 2
1908895167. 3

1908895168. 4
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Question Number : 117 Question Id : 1908891308 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AITE ¥ Tegd & 37T A% 1 99T F

| Tt - foe fR. 9. 39 (wedge) ST, &1 Wl H19W & 5 TC

. EGTET - AHAT &7, eI HFHT T THF AN F T

. TR - T HET g3, 931 91 A UL A WA T AT AR T H Fe
£l

4, FATCTRIBRT - TIo AT, TR TE T FG02er o 37 i

[

L]

Options:

1908895165. 1
1908895166. 2
1908895167. 3
1908895168. 4

Question Number : 118 Question Id : 1908891309 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT

A. Friedrich Miescher|I. Used X-ray analysis to investigate DNA structure

B. Rosalind Franklin |II. Provided experimental evidence of semiconservative DNA replication
C. James Watson I11. Discovered DNA

D. Mathew Meselson [IV. Elucidated 3-dimensional double helix DNA structure

Choose the correct answer from the options given below:

A-IV.B-LC-II.D-II
A-TMLB-ILC-IV.D-I
A-NLB-ILC-LD-IV
A-NMLB-LC-IV.D-II

[ e A s R

Options:
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1908895169. 1
1908895170. 2
1908895171. 3

1908895172. 4

Question Number : 118 Question Id : 1908891309 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= -IF R -1 § gARfeT ST

=T -1 T -1

A.tfe TA9SR |1 DNA ST 3reaaet #F X -ray FT gI9T Far
B. rafers I1. 37-%fEaEr DNA 9 & wrafas wem
therord gerd e

C3Fg T (L DNA T @

IV. DNA T fieaiy 2oy g==r gfaafes
e

D. #2Y ATHA

A foT 9T et & ¥ " 3ew IfAT

A-IV.B-LC-OI.D-II
A-TILB-IILC-IV.D-1I
A-III.B-ILC-LD-1IV
A-IIILB-1.C-IV.D-1I

b =

B

Options:

19088951609. 1
1908895170. 2
1908895171.3

1908895172. 4

Question Number : 119 Question Id : 1908891310 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Which of the following compounds are secondary metabolites?
A. Morphin

B. Abrmn

C. Leeithin

D. Uridine

E. Curcumin

Choose the correct answer from the option given below:

1. A&Eonly
2. A.B,&Eonly
C & D only
A & C only

=

Options :

1908895173. 1
1908895174. 2
1908895175. 3

1908895176. 4

Question Number : 119 Question Id : 1908891310 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 151


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

GETITON
. " Google Play
7 = ¥ ¥ Fi7 adgs 399=g ¢ -

A. AITRH

B. Tl

Arr fow ar Rt # @ 9 3o 9+
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Options:

1908895173. 1
1908895174. 2
1908895175. 3
1908895176. 4

Question Number : 120 Question Id : 1908891311 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following 1s not a modification of root?
A. Turnip

B. Potato

C. Carrot

D. Sweet potato

E. Zaminkand

Choose the correct answer from the option given below:

1. A& Conly

2. BD&E only

3. B&Eonly

4. D & E only
Options:

1908895177. 1
1908895178. 2
1908895179. 3

1908895180. 4

Question Number : 120 Question Id : 1908891311 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908895177. 1
1908895178. 2
1908895179. 3
1908895180. 4

Question Number : 121 Question Id : 1908891312 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:

Statement I: The medullary zone of kidney 15 divided into a few conical masses called
medullary pyranids which projects mto calyces.

Statement IT: Inside the kidney. the cortical region extends in between the medullary pyramids
as renal pelvis.

In the light of the above statements. choose the most appropriate answer from the options given
below,

Both Statement I and Statement II are correct
Both Statement I and Statement II are mcorrect
Statement I 1s correct but Statement IT 1s meorrect
Statement [ 1s mcorrect but Statement II 1s correct

| )

b

Options:

1908895181. 1
1908895182. 2
1908895183. 3

1908895184. 4

Question Number : 121 Question Id : 1908891312 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 2 Fud e Aw £

FUA - 1. el & 73T 497 F FT FOERK GO Fow ¥ A @ §
e FRIfEE Fgr = 2

w7 - 11: el & 3737 wifewa o9 Agged ffds & o ¢ o daw ww &
I FUA F WA F foas Mo # ¥ W 3o I

1. HI 13T n3ar & &

). FUF 13T 134 ¥HTE|

3. FUF 197 8. e FUa 130 8
4, FUF 13707 ¢ g F97 1T

Options:
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1908895181. 1
1908895182. 2
1908895183. 3

1908895184. 4

Question Number : 122 Question Id : 1908891313 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Mutation in which of the following would affect the functionality of Eukaryotic flagella?
A. Dynemn

B. Kinesin

C. Myosin

D. Flagellin

E. F-protein

Choose the correct answer from the option given below:

A only

A.D. & E only
D & E only
B.D. & E only

o o Bd

Options:

1908895185. 1
1908895186. 2
1908895187.3

1908895188. 4

Question Number : 122 Question Id : 1908891313 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895185. 1
1908895186. 2
1908895187.3

1908895188. 4

Question Number : 123 Question Id : 1908891314 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Arrange in correct sequence with respect of Meiosis-1

A. Crossing over

B. Chiasmata formation

C. Compaction of chromosome

D. Disappearance of nucleolus and breakdown of nuclear envelop
E. Formation of synaptonemal complex

Choose the correct from the options given below

1. A>B>C>D>E
2. C=E=A=B=D
3. D=B>C>=E=A
4. A>D>C>B>=E

Options :

1908895189. 1
1908895190. 2
1908895191. 3

1908895192. 4

Question Number : 123 Question Id : 1908891314 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895189. 1
1908895190. 2
1908895191. 3
1908895192. 4

Question Number : 124 Question Id : 1908891315 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following cannot be used as vector for cloning in recombinant DNA technology?

Plasomd

Plastid

Bacteriophage

Bacterial artificial chromosome

I R N R S

Options:

1908895193. 1
1908895194. 2
1908895195. 3
1908895196. 4

Question Number : 124 Question Id : 1908891315 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T DNAT T R AT F s S A A & TFaT 8 ?

1. onfEAg

2. Sfam

3. SaTy HST

4. Sam] FHEA QU
Options:

1908895193. 1
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1908895194. 2
1908895195. 3
1908895196. 4

Question Number : 125 Question Id : 1908891316 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Morphine leads to delusions and disturbed emotions.
Statement II: Barbiturates cause relaxation and temporary euphoria.

In the light of the above statements, choose the most appropriate answer from the options given
below.

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement IT 15 correct

N N R

Options:

1908895197. 1
1908895198. 2
1908895199. 3
1908895200. 4

Question Number : 125 Question Id : 1908891316 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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2. FUF 13T AT HTTE

3. FUF 18T 2. oFeg F4F I 30T E
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Options:

1908895197. 1
1908895198. 2
1908895199. 3

1908895200. 4

Question Number : 126 Question Id : 1908891317 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the following reactions in glycolysis and arrange in correct sequence
A. Phosphorylation of glucose

B. Isomerization of glucose-6-phosphate

C. Isomerization of dihydroxyacetone phosphate

D. Phosphorylation of fructose-6-phosphate

E. Cleavage of fructosel.6-diphospahte

Choose the correct from the options given below

1. D=B>A>E>C
2. A>B>D>E>C
3. D=B=E=C=A
4. A>E>B>D>C

Options :
1908895201. 1
1908895202. 2

1908895203. 3
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1908895204. 4

Question Number : 126 Question Id : 1908891317 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS AT T HEA BRarst T 8 7 Fated w5
A. TS FT BIEBHITRH

B. To[I= - 6 - BIEHE F ATSHATTANA

C. SEFTEFHITHET FIERE FT FAEAHITSAAS

D. FFeIH - 6 - FIEHE FT FIEGRIZAH

E.TFeIH - 1.6 - SISHIEHRS FT 9o

e RT 71T oeest # | ®Er 3cW I

1. D=B=A>E>C

2. A>B>D>E=C

3. D=B=E>C>A

4. A>E=B=D=C
Options:

1908895201. 1
1908895202. 2
1908895203. 3

1908895204. 4

Question Number : 127 Question Id : 1908891318 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:
Statement I: The generation of cellular diversity 1s known as differentiation

Statement II: Formation of interfascicular cambrum and cork cambium from fully differentiated
parenchyma cells are examples of dedifferentiation

In the light of the above statements. choose the most appropriate answer from the options given
below.

Both Statement I and Statement II are correct
Both Statement I and Statement II are ncorrect
Statement I 15 correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement IT 15 correct

[ R

e ]

Options :

1908895205. 1
1908895206. 2
1908895207. 3
1908895208. 4

Question Number : 127 Question Id : 1908891318 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT s Grav §

Fud - 1. fd S #1 o 719 57 R gur Res @ 7 Rew
ST g

FUA - 11 STTHAHOT TGN FA1 F1 TN a3l [ 7 30 ¢
ITFT FUA F A F Aeafaed fhedt # ¥ ¥ 3o T

1. ®IF 13T 1= FJEr £

2. FUF 13T N HOA E|

3. BT 197 ¢ Foieq Fa 13797 B
4. FUYF 130T 8. fFeg F97 18T ¢

Options:
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1908895205. 1
1908895206. 2
1908895207. 3

1908895208. 4

Question Number : 128 Question Id : 1908891319 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: In mitosis, chromosomal number in the progeny as well as in parents remans the
same

Statement IT: Mitosis takes place only i gametes.

In the light of the above statements, choose the most appropriate answer from the options given
below.

Both Statement I and Statement I are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement I 1s incorrect
Statement I 1s incorrect but Statement II 15 correct

e e Bl

Options :

19088952009. 1
1908895210. 2
1908895211. 3
1908895212. 4

Question Number : 128 Question Id : 1908891319 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

19088952009. 1
1908895210. 2
1908895211. 3

1908895212. 4

Question Number : 129 Question Id : 1908891320 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A person, experiences sweating and increased heart beat before an interview. Which of the
following hormones are responsible for this restlessness?

Estrogen and vasopressin
Progesterone and oxytocin
Adrenaline and noradrenaline

| B

)

Insulin and glucagon
Options:

1908895213. 1
1908895214. 2
1908895215. 3
1908895216. 4
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Question Number : 129 Question Id : 1908891320 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T FT TF TETeHR § T T 3T 98 86T T AeH FIA1 § I HOTAq
for for & @ i gl Seavert § 2

[a—

. RIS JUT SUTRA
2. WIS U7 FFEenad
. UizAfes FuT AaRvigates

. ZgIo TUT TR

Options:

-

S

1908895213. 1
1908895214. 2
1908895215. 3

1908895216. 4

Question Number : 130 Question Id : 1908891321 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Species A has 20=12 and species B has 2n=18. What are the possible chromosome numbers that
may be found mn an allotetraploid formed from species A and species B?

27,30,33
12,18, 6
9,18,27
12,18, 30

b —

Options:

1908895217. 1
1908895218. 2
1908895219. 3

1908895220. 4
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Question Number : 130 Question Id : 1908891321 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T AH 20=12T0 AT BH 20=18F| Fd AT BE 391 TAlCaTds &
T T T FT FA 0

27. 30,33
12,18, 6
9,18,27
12, 18, 30

e o D

Options:

1908895217. 1
1908895218. 2
1908895219. 3

1908895220. 4

Question Number : 131 Question Id : 1908891322 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Species confined to a particular region and are not found anywhere else are called
endemic species

Statement II: Keystone species are usually abundant in an ecosystem

In the light of the above statements. choose the most appropriate answer from the options given
below.

Both Statement I and Statement I are correct
Both Statement I and Statement II are mncorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 1s ncorrect but Statement II 15 correct

|

o i

Options:
1908895221. 1
1908895222. 2

1908895223. 3
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1908895224. 4

Question Number : 131 Question Id : 1908891322 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

v T FEm T

FUF - [ TS 0F 99 T W OET A § 79 #297 Ag 9T S g
Fgerar gl

FUT - 11 T woia ot off af@=T & AT A A 2

3T FUAT F FA & faeAorad fowedt # & T 3o I

I FU 130T 03 w8 &
2. FY 13R 134T #Eea |
3. FU 197 & g F99 1357 £
4. FUF 1307 . F97 157 7|
Options :
1908895221. 1
1908895222. 2
1908895223. 3
1908895224, 4

Question Number : 132 Question Id : 1908891323 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Characteristics of wind pollinated plants are

A. Well exposed stamens

B. Colortul flowers

C. Non sticky pollen

D. Fragrant flowers

E. Flowers rich in nectar

Choose the correct answer from the option given below:

1. A&Bonly
2. A& Conly

L]

A.B & C only
4. C.D, & E only
Options :

1908895225. 1
1908895226. 2
1908895227. 3
1908895228. 4

Question Number : 132 Question Id : 1908891323 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908895225. 1
1908895226. 2
1908895227. 3

1908895228. 4

Question Number : 133 Question Id : 1908891324 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Arrange in correct sequence of the levels of biological organization
A. Ecosystem

B. Community

C. Population

D. Organism

E. Biosphere

Choose the correct from the options given below

1. B>A>C>D>E

2. D>C>A>B>E

3. D>C>B>A>E

4. A=B=D=C=E
Options :

1908895229. 1
1908895230. 2
1908895231. 3
1908895232. 4

Question Number : 133 Question Id : 1908891324 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S TEaT s FA A A @ =T

A TITEyTET 37
B. W

C. FAEET
D.J=F

E. S9AS

A= fir 9T Reredt # ¥ ®Er 3o T

1. B>A>C>D>E
2. D=C=A>=B=E
3. D=C>B>A>E
4. A>B>=D>C>E
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Options :

19088952209. 1
1908895230. 2
1908895231. 3
1908895232. 4

Question Number : 134 Question Id : 1908891325 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange the different steps of plant breeding in correct sequence
A. Parent evaluation and selection

B. Superior recombinants selection

C. Testing, release and commercialization

D. Cross hybridization

E. Collection of variability

Choose the correct from the options given below

E>A>D>B>C
A>B>C>D>E
E>D>B>A>C
A>D>E>C>B

fad D =

g

Options :

1908895233. 1
1908895234. 2
1908895235. 3

1908895236. 4

Question Number : 134 Question Id : 1908891325 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Ured o9 & ol 90N D 999 D

E. [dfdedrsii &1 doa

1. E>A>D>B>C

2. A>B>C>D>E

3. E=ZD=B=A>C

4. A>D=E=C>=B
Options:

1908895233. 1
1908895234. 2
1908895235. 3
1908895236. 4

Question Number : 135 Question Id : 1908891326 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

List I List IT

A. Indole Acetic Acid I. Increase length of grapes stalks

B. Zeatin I1. Hastens fruit ripening in tomatoes
C. Gibberellic acid I1I. Overcome apical dominance

D. Ethephon IV. Rooting n stem cuttings

Choose the correct answer from the option given below:

A-IL. B-1. C-IV. D-III
A-IV, B-II, C-1. D-III
A-IV, B-III. C-I. D-II
A-IIL B-IV, C-II, D-I

bt

ol

Options :

1908895237. 1
1908895238. 2
1908895239. 3

1908895240. 4

Question Number : 135 Question Id : 1908891326 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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g IS - ® gRfea FifeT

T e

A 3319 THIRCH 3FA L3R F =0 H oFaad aud A

B. ufea II. TATEY H Fell & Tehed I AlF FLT
C. Faifos #JFa 1. ofi FITar X g T

D. 3UF IV. @ T Ffedar # 734 &g

A for 7T fFwent # ¥ w9 seaw gfav

A-IIL B-I. C-IV. D-III
A-IV, B-II, C-1. D-IIT
A-IV., B-III, C-1. D-IT
A-IIIL B-1IV, C-1I. D-I

bt

i

Options:

1908895237. 1
1908895238. 2
1908895239. 3
1908895240. 4

Question Number : 136 Question Id : 1908891327 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Carbon monoxide is considered as a pollutant because it

Reacts with O and converts it to CO»
Inhibits glycolysis

Forms a stable compound with haemoglobin
Destroys the haemoglobin

[ S

T

Options:

1908895241. 1
1908895242. 2
1908895243, 3

1908895244. 4
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Question Number : 136 Question Id : 1908891327 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FAd AAHFEEE HI oFd FRUT T JeuF FAAT AT

1. 0, fFar F Co, H giEfda F1ar &
. TATSHRIATET Uhal &

. TeEEataa & Oy Tt 3e9e 94T £
4. TEATATET FT 75 FI41 &

Options :

[ ]

LS

1908895241. 1
1908895242. 2
1908895243. 3
1908895244. 4

Question Number : 137 Question Id : 1908891328 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One 15 labeled as Assertion A and the other 1s labeled as
Reason R

Assertion A: A morphology based approach to taxonomy 1s called alpha taxonomy and it is old
fashioned.

Reason R: A multidisciplinary approach to taxonomy called omega taxonomy is favored in
recent years as it excludes morphological features.

In the light of the above statements, choose the most appropriate answer from the options given
below.

Both A and R are correct and R 1s the correct explanation of A.
Both A and R are correct but R 1s NOT the correct explanation of A.
3. Ais correct but R 15 not correct.

4. A 1s not correct but R 1s correct.

2 =

Options:
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1908895245. 1
1908895246. 2
1908895247. 3

1908895248. 4

Question Number : 137 Question Id : 1908891328 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A g Fud RU AT € vF F AFEFI (A) @R ZE FOFROT(R) FET A E

HARYA (A): HFN MUNT FRAA F o SFRIAH Fgl AT € F1 TE [l
GHE RS

W(R]:ma:aﬁﬂagmm?mmmﬁmm%wmmmw
ST § TUT A AEThIT 0N F FEH OIS FAaT AT AT £

IUYFS FUAT F e & FEiRg fEed & ¥ @ 3o 9

[

. (A) 3R (R =T 7 £ AT (R). (A) FF T @ g

. (A) AR (R) A T T (R). (A) FT TG =T A £
. (A) W& § =g (R) TET A 2

. (A)TEr T W g (R) TR

Options:

]

[ N ]

1908895245. 1
1908895246. 2
1908895247. 3

1908895248. 4

Question Number : 138 Question Id : 1908891329 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In contrast to eukaryotes, prokaryotes lack

Aerobic respiration
DNA

Ribosome
Mitochondria

b

e

Options:

1908895249. 1
1908895250. 2
1908895251. 3
1908895252. 4

Question Number : 138 Question Id : 1908891329 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TR & e 7 S$Ree & faeg #7 399 g ¢

1. IIOaT 9 THA

2. DNA

3. [EEEH

4. HATSETHRIT=3aT
Options :
1908895249, 1
1908895250. 2
1908895251. 3

1908895252. 4

Question Number : 139 Question Id : 1908891330 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A typical embryo sac in Angiosperms at maturity is

1. 7 nucleate and 8 celled
2. 8 nucleate and 7 celled
4 nucleate and 7 celled
8 nucleate and 8 celled

B

Options:

1908895253. 1
1908895254. 2
1908895255. 3

1908895256. 4

Question Number : 139 Question Id : 1908891330 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT gt # FfEa queew TFF genar €

1. 7 F=ghIg. 8 FITAHT
2. 8 Fegehrd, 7 HITAHT
3. 4F=gHrT, 7 FITIHIT
4. 8 Fegehrd, 8 FITAHT

Options:

1908895253. 1
1908895254. 2
1908895255. 3

1908895256. 4

Question Number : 140 Question Id : 1908891331 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following 1s NOT an anabolic process?

A. Oxidative deamunation of neurotransmitter by monoamine oxidase
B. Glycerol reacts with fatty acids to make lipids

C. Increase in the muscle mass

D. Hydrogen peroxide decomposes into water and oxygen

E. Synthesis of glycogen from glucose

Choose the correct answer trom the option given below:

1. A.B&Eonly
2. B&D only
3. A&Donly
4. B.D, & E only

Options:

1908895257. 1
1908895258. 2
1908895259. 3

1908895260. 4

Question Number : 140 Question Id : 1908891331 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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o o= AT A8

A AFITAA HFHRE GaNT “USTHA HT AFHFRS AR
B. Formtar &1 I sFar & far w7 s sa @

C. 99T AT T F&aT

D. Hy0, (BTI3ISIe IFEISS) FT AT adT AFdead ¥ fFuea

E. 7[IH H TSl FT HEI2AT
A foT T et # ¥ WEr 3o T

1. 9 A.B3HR E
2. FFa BIHT D
. Fga AHR D
4. %9« B.DHT E

-

Lad

Options:

1908895257. 1
1908895258. 2
1908895259. 3

1908895260. 4

Question Number : 141 Question Id : 1908891332 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: In Phaephyceae, lammarian 1s the stored food and major pigments are chlorophyll
a&b

Statement II: In Rhodophyeeae. Floridean starch 1s the stored food and the major pigments are
chlorophyll-a, b and Phycoerythrin

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement I are incorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 1s correct but Statement IT is correct

[

e

Options :

1908895261. 1
1908895262. 2
1908895263. 3

1908895264. 4

Question Number : 141 Question Id : 1908891332 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT e FA Rrav ¥
FYF - 1: w7 AR F 87T S T9 7T FARIMGAT 2 797 bE|

FUT - 11 TEHIHET 7, FAEITT e Hfg e & Fa9T FA0RR a.bF
FRFRTIAT qET e 2

FFT FUA F WA F ArAfared ffheqt # ¥ §EY 3o} I
1. FUT 14T N2 /T &l

2. %4 13T N3H ¥0cT |
3. FUS 1HcA §, e FUF 130T €
4. FYF 1707 £ 5] 797 1ETE

Options:
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1908895261. 1
1908895262. 2
1908895263. 3

1908895264. 4

Question Number : 142 Question Id : 1908891333 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: Majonity of heterotrophic bacteria are decomposers
Statement II: Bacteria are the sole members of the kingdom Monera

In the light of the above statements, choose the most appropriate answer from the options given
below.

Both Statement I and Statement I are correct
Both Statement I and Statement IT are incorrect

3. Statement I 1s correct but Statement II 1s incorrect
4. Statement I 1s incorrect but Statement I 15 correct

| R =

Options:

1908895265. 1
1908895266. 2
1908895267. 3

1908895268. 4

Question Number : 142 Question Id : 1908891333 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AT 2T FuA ffT T §

FUT - 1 30FR FvAwha e Jgecaqol oues B

FUT - 11 : STy HAAT FT F THA A G

3T FUAT F Hollw F Feafoi@a TFed # ¥ Tl 3cX g ¢

[

. FUF 13T D3 g

. FAF 1 AT HSAT HTeT 2

. FUT 16T §. g FU 11 3787
4. FUT 13HT ¢ Tohe] FUT NHAE)

| ]

Eaa

Options :

1908895265. 1
1908895266. 2
1908895267. 3

1908895268. 4

Question Number : 143 Question Id : 1908891334 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘The Evil Quartet’ responsible for decline in biodiversity are
A. Habitat loss

B. Over exploitation

C. Ex-situ conservation

D. Co-extinction

E. Out breeding

Choose the correct answer from the option given below:

A & B only
A.B & D only
A & D only
B.D, & E only

Ja L b e

Options :
1908895269. 1
1908895270. 2
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1908895271. 3

1908895272. 4

Question Number : 143 Question Id : 1908891334 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gee diwel Aafafeudar garT # Seater @ §

A HTETH B

B. 3T gigd

C. 9N - TIEATH HIET0T

D. g e

E. Hfa-9aa

arr fET aT et # @ Her Seal I+

1. a9 AT B
2. FFT ABHT D
. Fga AHT D
4. %9 B.DHAT E

-

L]

Options:

1908895269. 1
1908895270. 2
1908895271.3

1908895272. 4

Question Number : 144 Question Id : 1908891335 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Grven below are two statements

Statement I: The interaction n which one species is benefitted and the other species is
neithommensalr benefitted 1s commensalism.

Statement II:ommensal, prommensalismsave evolved certain defense mechanisms agaimst
predators.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are mcorrect

3. Statement I 1s correct but Statement II 1s incorrect
4. Statement I 1s mcorrect but Statement IT 15 correct

| i

Options:

1908895273. 1
1908895274. 2
1908895275. 3

1908895276. 4

Question Number : 144 Question Id : 1908891335 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT FAFRT AT

FUT - 1. U0 o=y (S8 UF S0 a1efiiwa- gl & Wil o o o1 81 gl orar
g WEHITAaT Fgord £l

FUF - 1: 9500 & RFR F Rl § qeow F 36 3930 #7 45w & g

IYF FUA F HAF H ArAord oFedt & § T 3R I

I FU9 137 I T8

2. FUA [T 1A 30T £

3. FUF 187 ¢ =] FU7 1307 £
4. FUF 130T ¢ e FUF NFA £

Options:
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1908895273. 1
1908895274. 2
1908895275. 3

1908895276. 4

Question Number : 145 Question Id : 1908891336 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sequence of a DNA strand 1s 3’TTCGCATG 5°. The sequence of the complementary strand
will be

1. SAAGCGTAC ¥
2. SCATGCGAA Y
3. SCATGCGIT ¥
4, JCATGCGAA Y
Options:
1908895277. 1
1908895278. 2
1908895279. 3

1908895280. 4

Question Number : 145 Question Id : 1908891336 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T DNA 4@l F1 FH 3 TICGCATG ' § 30F oY el &1 7 %7 fowet ghm

1. $AAGCGTACY
2. 5'CATGCGAAY
SCATGCGTTS
3'C'TGCGAAY

ozt

Options:
1908895277. 1
1908895278. 2

1908895279. 3
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1908895280. 4

Question Number : 146 Question Id : 1908891337 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Mutations are random and direction less. while Darwinian variations are small and
directional.

Statement IT: Darwin’s finches represent one of the best examples of adaptive radiation.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement I are correct
Both Statement I and Statement IT are incorrect
Statement I 1s correct but Statement I 1s incorrect
Statement [ 1s incorrect but Statement IT 1s correct

b

ey

Options:

1908895281. 1
1908895282. 2
1908895283. 3
1908895284. 4

Question Number : 146 Question Id : 1908891337 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908895281. 1
1908895282. 2
1908895283. 3

1908895284. 4

Question Number : 147 Question Id : 1908891338 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Reflex action has all of the following features, except

Recetving of signal from a sensory organ

Transmission of impulse into the central nervous system through effector organ
Carrying of signal from central nervous system to the effector

Response to an mvoluntary peripheral nervous stimulation

e Ll bd

Options:

1908895285. 1
1908895286. 2
1908895287. 3

1908895288. 4
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Question Number : 147 Question Id : 1908891338 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gaframr & e F wfafea o &

ot

. == =g anT WIEr HA W T 9Ied Al

. FrT dT¥FT IF T HAIGTE! g0 AN SFICH HT AW

. FET AFET 99 ¥ $HF TF SHF ~I SaRT Hegl AT
4. FEl T e Fr gfatEar = gEr €

[ o)

L]

Options :

1908895285. 1
1908895286. 2
1908895287. 3
1908895288. 4

Question Number : 148 Question Id : 1908891339 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List I with List I1

List I [List II

A. Haemophilus influenzae|I. Common cold
B. Rhino virus I1. Elephantiasis
C. Wuchereria malayi IT1. Pneumonia

D. Plasmodium falciparum IV. Malignant malaria

Choose the correct answer from the options given below:

1. A-IIILB-I.C-II.D-1IV
2. A-LB-T. C-T;13-TV

3. A-IILLB-IV,.C-II.D -1
4, A-LB-II,C-II,D-1IV
Options:

1908895289. 1
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1908895290. 2
1908895291. 3
1908895292. 4

Question Number : 148 Question Id : 1908891339 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g7 -1 F- -1 §-FHATITHIAT

=T -1 =T -11-

A, fERifreT saweuaT I §AT T

B. 34T I I1. grefY 979 / TelltheaIgicH
C. FHIET HordT IIL. =GR e ar

D. SATERITSTH GIeaTeTH IV. GeH el

4= T T et & ¥ §E 3ea) gfav

A-III.B-1.C-II.D-1IV
A-ILB-II.C-ILD-1IV
A-III.B-IV.C-II.D-I
A-LB-IL.C-IL.D-1IV

L L b e

Options:

1908895289. 1
1908895290. 2
1908895291. 3

1908895292. 4

Question Number : 149 Question Id : 1908891340 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I; In animal husbandry. inbreeding 1s one of the preferred methods to increase the
yield of animals and improve the productivity.

Statement II: Continued close mbreeding will lead to the enhancement of fertility and
productivity.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement IT are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

ot

=

Options:

1908895293. 1
1908895294. 2
1908895295. 3

1908895296. 4

Question Number : 149 Question Id : 1908891340 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT g Fua Rr aw &

FUA - 1: Aol F HATlotad T HT ScAEHAT & FT THIGT ATTHA g

FUF - II: Gad F&T 3T T977 § T &THAT FAT 3cqMEHAT deam 2
3YFT FHIAT & HAF F ArArarad Gwedt # ¥ W 3eal A ¢

. FUF 137 13 Tar #
. FUF 1T LA 30T &
. FUF 197 &, g FU 1 3787 2
U 1370 £. fFeq FUF DA

F= L] [ -] —

Options :
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1908895293. 1
1908895294. 2
1908895295. 3

1908895296. 4

Question Number : 150 Question Id : 1908891341 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s accurately paired?

Gonorrhea - Glossina
Syphilis - Treponema
Filanasis - Leishmania
Encephalitis - Neisseria

|

W

Options:

1908895297. 1
1908895298. 2
1908895299. 3

1908895300. 4

Question Number : 150 Question Id : 1908891341 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T T Es e o g

1. FMATLAT - TATGAT
. Fowform - T

[ )

3. wEaRTEy - e
4. TATOReTSTET - T
Options :

1908895297. 1

1908895298. 2
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1908895299. 3

1908895300. 4
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